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The following table shows the number of newspapers printed as shown inside the brackets
and the number of newspapers distributed at different cities on a particular date. Answer
the questions 1to 5:

Citv-wise Distribution of Newspaper

Newspaper | Newspaper | Newspaper | Newspaper | Newspaper
—» A B C D
Cit}-‘¢ (2000) (2000) (1000) (1000)
Delhi 1000 750 320 2560
Lucknow 500 250 250 175
Varanasi 200 150 165 155
Jaipur 200 3560 135 160

Sub questions

Question Number : 1 Question Id : 5362283929 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which city the distribution of paper 1= mimimum?

(1) Jalpur (2) Lucknow
(3) Della (4) Varanasi
Options :

53622815301. 1
53622815302. 2
53622815303. 3
53622815304. 4

Question Number : 2 Question Id : 5362283930 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of distributed newspapers compared to printed newspapers?

(1) 83.0% (2) 84.0%
(3) 852.0% (4) 82.5%
Options :

53622815305. 1
53622815306. 2
53622815307. 3
53622815308. 4

Question Number : 3 Question Id : 5362283931 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the percentage of distmbution of newspaper C 1n all the cities as compared to total
number of newspapers distributed?

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622815309. 1
53622815310. 2
53622815311. 3
53622815312. 4

Question Number : 4 Question Id : 5362283932 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of distribution of Newspaper A to newspaper B?

(1) 16:15 2y 7:5
(3) 19:15 (4 17:15
Options :

53622815313. 1
53622815314. 2
53622815315.3
53622815316. 4

Question Number : 5 Question Id : 5362283933 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total distributed paper to total newspaper printed?

(1) 5:6 (2) 51:60
(3) 167 : 200 {4y 5/2:61
Options :

53622815317. 1
53622815318. 2
53622815319.3
53622815320. 4

Question Id : 5362283928 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362283929 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T3 oTeT § HETEE T 1 Wi —gHan T 1 At 5 e

(1) EERRS (Z) vEaTs
(3)  Taodt (4) FTTH
Options :

53622815301. 1
53622815302. 2
53622815303. 3
53622815304. 4

Question Number : 2 Question Id : 5362283930 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of distributed newspapers compared to printed newspapers?
(1) 33.6% (2) 84.0%
(3) 82.0% (4) B82.0%

Aiza wam=R w i afa i wen i g 8 Fata i T aemEme i oufaat i ge i ufaed =9 e

(1) 33.56% (2) 84.0%
(3) 82.0% (4) 82.5%
Options :

53622815305. 1
53622815306. 2
53622815307. 3
53622815308. 4



Question Number : 3 Question Id : 5362283931 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o I o o i S aumEEn i aiaa ) Fe g i gern § gEeEned C i faate g wie

(1) 16.46% (2) 17.36%
(3) 16.42% (4) 16.36%
Options :

53622815309. 1
53622815310. 2
53622815311. 3
53622815312. 4

Question Number : 4 Question Id : 5362283932 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ERIRAd

(1) 16:15 (2) 7:5

(3) 19:15 (4) 17:15
Options :

53622815313. 1
53622815314.2
53622815315. 3
53622815316. 4

Question Number : 5 Question Id : 5362283933 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 5:6 (2) 51:60
(3) 167 : 200 (4) bH2:61
Options :

53622815317. 1

53622815318.2

53622815319. 3

53622815320. 4

Sub-Section Number : 2
Sub-Section Id : 536228156
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 5362283934 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If teaching 1s viewed as a continuum, which of the following modality, involves active ‘give’
and ‘take” between the teacher and learner?

(1) Training (2) Conditioning
(3) Instruction (4) Indoctrination
Options :

53622815321. 1
53622815322. 2
53622815323. 3
53622815324. 4

Question Number : 6 Question Id : 5362283934 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Atz foreror 1 WA i 9 2@ AT 2 A eieEy w5 J wEar e v s A o a5

(1) P b (2) FTFHeA
(3)  FF (4) FAEIm
Options :

53622815321. 1
53622815322.2
53622815323.3
53622815324. 4

Question Number : 7 Question Id : 5362283935 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the correct sequence from lower to higher, for indicating learning outcomes related

to affective domain?
(A) Receiving

(B) Valuing

(C) Responding
(D) Organization

(E) Characterization

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D) and (E) (2) (A). (C). (B). (D) and (E)
(3)  (C). (D). (E), (4) and (B) (4) (B). (C). (A). (D) and (E)
Options :

53622815325. 1
53622815326. 2
53622815327. 3
53622815328. 4

Question Number : 7 Question Id : 5362283935 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  (A). (B). (C). (D) 7 (E) @) (A). (C). (B). (D) 31 (E)
(3) (). (D). (B). (A) 3 (B) (4)  (B). (C). (A). (D) ¥t (E)
Options :

53622815325. 1
53622815326.2
53622815327. 3
53622815328. 4

Question Number : 8 Question Id : 5362283936 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Ability of an individual or group implies the components of knowledge, skill

and experience.

Statement IT: Willingness of an individual or group 1mplies the components of confidence,

commitment and motivation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT is correct
Options :

53622815329. 1
53622815330. 2
53622815331.3
53622815332. 4

Question Number : 8 Question Id : 5362283936 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622815329. 1
53622815330. 2
53622815331. 3
53622815332. 4

Question Number : 9 Question Id : 5362283937 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List [ wath List IT : List I provides the basic management functions to be performed by
a teacher while the List IT gives their description.

List I Last IT
(A) Planning (I} It involves feedback of results and
follow up to compare
accomplishments.
(B) Organizing (I) It 1nvolves engagement 1n task

relevant activities.

(C) Motivating (IIT) It involves bringing together resources
and people.
(D) Controlling (IV) It involves setting goals and objectives.

Choose the correct answer from the options given below :

(1)  (A)-IV). (B)-(IID). (C)-(ID). (D)-(D
(2) (A)-(D). (B)-(ID). (C)-(I1I). (D)-(IV)
(3)  (A-ID), (B)-@),. (C)-IV). (D)-(I1I)
(4)  (A)-IID. (B)-(IV). (C)-(I). (D)-(II)

Options :

53622815333. 1
53622815334. 2
53622815335.3
53622815336. 4

Question Number : 9 Question Id : 5362283937 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(IV). (B)-(I1D). (C)-(ID). (D)-(D)
(2) (A)-(D). (B)-(II), (C)-(IID). (D)-(IV)
(3) (A)-(IT). (B)-(I). (C)-(IV). (D)-(ILI)

(4) (A)-(IID). (B)-(IV). (C)-(I), (D)~(II)
Options :
53622815333 1
53622815334.2
53622815335.3
53622815336. 4

Question Number : 10 Question Id : 5362283938 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion (A) and the other 1= labelled as

Reason (R) :

Assertion (A):  The use of ICT has a great potential for optimising learning outcomes.

Reason (R) : ICT promotes scope for variety, flexibility and attractiveness.

In the light of the above statements. choose the correct answer from the options given below :

b Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

53622815337. 1
53622815338. 2
53622815339. 3
53622815340. 4

Question Number : 10 Question Id : 5362283938 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815337. 1
53622815338. 2
53622815339. 3
53622815340. 4

Question Number : 11 Question Id : 5362283939 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling procedures from the following :

(A) Simple random sampling
(B) Quota sampling

(C) Cluster sampling

(D) Snowball sampling

(E) Dimensional samphng

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B).(C) and (D) only
(3 (B). (D) and (E) only {4) (C). (D) and (E) only
Options :

53622815341. 1



53622815342.2
53622815343.3
53622815344. 4

Question Number : 11 Question Id : 5362283939 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faeafeafma 9 9 sy w st afaee ai=gs aiFEms i ue=e Fira
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(1) === (A). (B) #1 (C) (2) === (B), (C) 1 (D)

(3)  Fa7 (B). (D) W (E) @ Fa= (C). (D) 31 (E)
Options :

53622815341. 1
53622815342.2
53622815343. 3
53622815344. 4

Question Number : 12 Question Id : 5362283940 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A college principal conducts an ethnographic probe into the problems faced by tribal
students. Which method of samplhing will be most appropriate?

(1) Random sampling (2) Stratified sampling
(3) Cluster sampling (4) Systematic samplhing
Options :

53622815345. 1
53622815346. 2
53622815347. 3
53622815348. 4

Question Number : 12 Question Id : 5362283940 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
U el # TR g S e gan w1 T geenel W JAias S S T |
ieeaA i B = @ s I9e w6

(1) Fg=aF Taa (2) A i
(3) s uidEE (4) e T
Options :

53622815345. 1
53622815346. 2
53622815347.3
53622815348. 4

Question Number : 13 Question Id : 5362283941 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Fundamental research 1s directed at exploring the apphicability of truths and

principles already established.

Statement I1 : Action research aims at ameliorating the ongoing conditions and practices.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement IT is correct
Options :

53622815349. 1
53622815350. 2
53622815351.3
53622815352. 4

Question Number : 13 Question Id : 5362283941 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815349. 1
53622815350. 2
53622815351. 3
53622815352. 4

Question Number : 14 Question Id : 5362283942 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Asszertion (A) : Research ethics and 1its observance 1s necessary in the interest of
credibility and quality of research.

Reason (R) : The policy making bodies have to be accountable for pursuing research
with an eve on promoting excellence.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1z NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) 1s false but (R) 1s true
Options :



53622815353 1
53622815354. 2
53622815355.3
53622815356. 4

Question Number : 14 Question Id : 5362283942 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622815353. 1
53622815354.2
53622815355. 3
53622815356. 4

Question Number : 15 Question Id : 5362283943 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher intends to find out the differences in motivational outlook of first degree level
students 1n terms of their belongingness to rural/urban areas and the educational status of
parents. What will be the dependent variable in this study?

(1) Belongingness to rural/urban areas (2) First degree level

(3) Educational status of parents (4) Motivational outlook
Options :
53622815357. 1
53622815358. 2
53622815359. 3
53622815360. 4

Question Number : 15 Question Id : 5362283943 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815357. 1
53622815358. 2
53622815359.3
53622815360. 4

Question Number : 16 Question Id : 5362283944 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication 18 indicative of one’s

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622815361. 1
53622815362. 2
53622815363. 3
53622815364. 4

Question Number : 16 Question Id : 5362283944 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication is indicative of one’s

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622815361. 1
53622815362. 2
53622815363.3
53622815364. 4

Question Number : 17 Question Id : 5362283945 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following elements in the latter part of the

communication process after decoding :

(A) Environment
(B) Feedback
(C) Context

e Interference

Choose the correct answer from the options given below :

() (A (B). (C). (D) (2) (B). (C). (D). (A
(3) (O (D). (A). (B) (4 (B). (A (C). (D)
Options :

53622815365. 1
53622815366. 2
53622815367. 3
53622815368. 4

Question Number : 17 Question Id : 5362283945 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A) T
B) HEEw
(C) H=H
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(1) (A, (B). (C). (D) (2) (B). (C). (D). (A)

(3) (C). (D). (A). (B) (4 (B). (A). (C). (D)
Options :

53622815365. 1
53622815366. 2
53622815367. 3
53622815368. 4

Question Number : 18 Question Id : 5362283946 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :

List I LastIT
(Type of media) (Example)
(A) Synchronous media (I) Application of multi-media
(B) Asynchronous media (II) Interactive multi-media
(C) Rich media (III) E-maail
() Hyper media (IV) Telephone

Choose the correct answer from the options given below :

1 (A-D. (B)-ID, (C)-IID. (D)-(IV)
@ (A)-IV). B)II). (C)-ID). (D)D)
(3 (A)-D). (B)-IV). (O)-(D). (D)-(I1I)
(4)  (A)-II). (B)-(D. (C)-IV), (D)-(AD)

Options :

53622815369. 1
53622815370. 2
53622815371.3
53622815372. 4

Question Number : 18 Question Id : 5362283946 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1 (A-D. (B)-ID), (C)-(IID). (D)-(IV)
@ (A)-@V). (B)-II). (C)-D), (D)-@)
(3 (A-D. (B)-AV). (C)-(D). (D)-(1I)

(4) (A)-(IID). (B)-(I). (C)-(IV). (D)-(II)
Options :
53622815369. 1
53622815370. 2
53622815371. 3
53622815372. 4

Question Number : 19 Question Id : 5362283947 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1= labelled as

Eeason (R) :

Assertion (A):  Effective commumiecators align appearance with body language and tone.

Reason (R) : Such an alignment forms part of the art of persuasion.

In the light of the above statements, choose most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
53622815373. 1
53622815374. 2
53622815375.3
53622815376. 4

Question Number : 19 Question Id : 5362283947 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622815373. 1
53622815374. 2
53622815375.3
53622815376. 4

Question Number : 20 Question Id : 5362283948 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are contributive to positive influence on teacher-student
communication?

(A) Making assumptions

(B) Limited interaction

(C) Fostering a sense of belongingness
(DD  Acknowledging participation

(E) Persuative attitude

Choose the most appropriate answer from the options given below :
(1) (A (B). (C) only (2) (B).(C). (D) only
(3)  (C). (D). (E) only (4) (A). (D). (E) only

Options :
53622815377. 1



53622815378. 2
53622815379. 3
53622815380. 4

Question Number : 20 Question Id : 5362283948 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ACATTF T2y oo F Tey | FeerEd 8 § $9-3 I9AeaE 799 1 9EE 51 2 7
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(1) == (A), (B). (C) (2) = (B), (O). (D)

(3) a7 (C). (D). (E) (4) Fa9 (A). (D). (E)
Options :

53622815377. 1
53622815378. 2
53622815379. 3
53622815380. 4

Question Number : 21 Question Id : 5362283949 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A pipe normally fills a tank 1n 12 hours. but, due to a leak. 1t takes 8 hours more. If the tank
1s full, how many hours will the leak take to empty 1t?

(1) 12 2 22
(3) 30 (40 33
Options :

53622815381. 1
53622815382. 2
53622815383.3
53622815384. 4

Question Number : 21 Question Id : 5362283949 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

T TIEY U o W AN T 12 921 § W 991 2 | Weg foieh 1 998 B 3H 9 7 8 97 Hlgw = 2

afe % w1 gen A1 forhs i 99= ¥ =@ @l 79 1 fea o s Y

(1) 12 (2) 22
(3) 30 4y 33
Options :

53622815381. 1
53622815382. 2
53622815383.3
53622815384. 4

Question Number : 22 Question Id : 5362283950 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the remainder when 64 divides 16717

(1) 4 ) b
(3) 6 4 T
Options :

53622815385. 1
53622815386. 2
53622815387. 3
53622815388. 4

Question Number : 22 Question Id : 5362283950 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1671 =i 64 o Taartsa 4 T a7 39 s=97 7

1 4 2 5
(3) 6 4 7
Options :

53622815385. 1
53622815386. 2
53622815387. 3
53622815388. 4

Question Number : 23 Question Id : 5362283951 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Two triangles are said to be congruent if their corresponding angles are

equal and corresponding sides are proportional.

Statement II: Two triangles are said to be similar if their corresponding angles and

corresponding sides are equal.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement IT 1s false

(4) Statement I 1s incorrect but Statement II 1s true
Options :
53622815389. 1
53622815390. 2
53622815391. 3
53622815392. 4

Question Number : 23 Question Id : 5362283951 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
= 31 o fRu o E

w9 (D) : 5 P A WS S R A I W H0 A EE S e A

S F % AT A A e 4 6w e
(1) a9 D5 I3 590 7 |

@ a1 R 12 e 2

(3 w1 H 2 g %9 ILTed 2 |

(@) w9 13w 7 g wo [ 2

Options :

53622815389. 1
53622815390. 2
53622815391. 3
53622815392. 4



Question Number : 24 Question Id : 5362283952 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong number 1n the series :

7.8, 18, 57, 228, 1165. 6996

(1) 1165 (Z) 228
(3) 57 (4 18
Options :

53622815393. 1
53622815394. 2
53622815395.3
53622815396. 4

Question Number : 24 Question Id : 5362283952 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frTeTiad Se—%a O O e 9w 0] S

1. 8. 18, b7, 228, 1165, 6996

(1) 1165 (2) 228
(3) 57 (4) 18
Options :

53622815393. 1
53622815394. 2
53622815395. 3
53622815396. 4

Question Number : 25 Question Id : 5362283953 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: When we perform an experiment, then the set S of all possible outcomes 1s

called the sample space.
Statement IT : Any superset of a sample space 1s called an event.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement IT 1s false

(4) Statement I is incorrect but Statement IT is true
Options :
53622815397. 1
53622815398. 2
53622815399. 3
53622815400. 4

Question Number : 25 Question Id : 5362283953 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 21 FoA faw

FoA (I): =9 79 12 790 F 2 A A5G 9000 # g95=e S Uiae TE Feer # |
Fo (ID) - Te1 wfdagel o =1 15 AAfosg==" ‘sd2 Faedl 7 |

IUHF FUAT F ATE A i e 7 O e I o

(1)  u= I 2 =6 7 |

(2) == I = I3 TeE # |

3 FEIFEzFaFEITE2I

4 =y I e & g e Lo 2 |
Options :
53622815397. 1
53622815398. 2
53622815399. 3
53622815400. 4

Question Number : 26 Question Id : 5362283954 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In terms of the relationship indicated below, which word will correctly pair to replace the
gquestion mark?

©

Frown : Pain :: Smile : ;
(1) Joy (2) Sorrow

(3) Failure (4) Discomfiture
Options :

53622815401. 1
53622815402. 2
53622815403. 3
53622815404. 4

Question Number : 26 Question Id : 5362283954 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
1= =900 T TEg % SHEE, FA-H 552 99 98 F TUE 9 gHid B Y

W
[

I« ST o B

=

(1) @i (2) T4
(3)  TaFea (4) =TI
Options :

53622815401. 1
53622815402. 2
53622815403. 3
53622815404. 4

Question Number : 27 Question Id : 5362283955 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion (A) and the other iz labelled as
Reaszon (R) :

Assertion (A):  Since the perception of hardness 1s not necessarily connected with its
colour, it can be said that all the perceptions seen conjoined but never
connected.

Reason (R) : Causal relationship 18 always contingent and probable because it 1s

derived from experence.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 true but (R} 1s false

(4) (A) 1= false but (R) 1s true

Options :
53622815405. 1



53622815406. 2
53622815407. 3
53622815408. 4

Question Number : 27 Question Id : 5362283955 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hr= =1 A 5 T E 5§ v o AT (A) 31 55w a6 (R) TR R

ATTFIE (A) : <t FI0AT GG FAH T F AEYAE =9 F HEiAd TE A SHG TE HE A ARl 2
% =t =1y 999 wdE =6 7 Ted Hl TEtad T8 7 # |
3
B

IYAFA FUAT F AEF ° AR e 4 d Jal 3 A

1) (A) 3T ®) I TAF 3R R). (A) F T =
@  (A) ¥R ®) I T E T ). (A)F T e 2
(3) (A) T#t 2 wig (R) W81 971 7 |

@ @ R ®) R

Options :

53622815405. 1

53622815406. 2

53622815407. 3
53622815408. 4

Question Number : 28 Question Id : 5362283956 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions :
All philosophers are falhible.

Hegel 1s not fallible.

In the classical square of opposition, which one of the following 1s the correct option for this?
(1) Contrary (2) Sub contrary
(3) Contradictory (4) Subaltern

Options :

53622815409. 1
53622815410. 2
53622815411. 3
53622815412. 4



Question Number : 28 Question Id : 5362283956 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T 2 29eE F |
#Te 29 TE 7

g = wertaehl =71 | 59 fo f=feias § O sE-an fwes 58 2 7

(1)  faofiaas (2) I7-faoim=
(3) = (4) TazE (T )
Options :

53622815409. 1
53622815410. 2
53622815411. 3
53622815412. 4

Question Number : 29 Question Id : 5362283957 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gaven below are two propositions :
Some animals are fierce.
Some animals are not fierce.

In the classical square of opposition which one of the following is the correct option?

(1) Subaltern (2) Contradictory
(3) Contrary (4) Sub-contrary
Options :

53622815413. 1
53622815414.2
53622815415.3
53622815416. 4

Question Number : 29 Question Id : 5362283957 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FP AT GEX TA B 7 |

farta # et @ # 39 fo Fefetaa § 5 FH-a1 fawer 971 27
(1) =95 (F=emee) (2) =T
(3)  faufmrE=s (4) Iu-Tagdia
Options :

53622815413. 1
53622815414. 2
53622815415.3
53622815416. 4

Question Number : 30 Question Id : 5362283958 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I Liat IT
(Concept) (Philosopher)
(A) Causality is apriori {I) Anstotle
(B) Causality 1s synthetic (II) Hegel
(C) Causality 1s dialectical (III) Hume
(D) Causality 1s material (IVy Kant

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(D). (C)-(IV). (D)-(IIL)
2 (A)IV), (B)-(III). (C)-(I). (D)-(T)
(3)  (AD, (B)-IV), (C)-(I1D), (D)-(II)
@ (A, (B)-(D. (C)-II), (D)-(IV)

Options :

53622815417. 1
53622815418. 2
53622815419. 3
53622815420. 4

Question Number : 30 Question Id : 5362283958 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=1-1 %1 -1 & gofea Fifam

. .11
( ST i

(B)  FromT TR 3 @O 774

(B) FE FTADAF 7 | o

(C) TFHVET GgIea # | ¢ o

(D) AT S 2 | P =

et o, e 3 e

(1)  (A)-AD. (B)-d), (C)-(IV). (D)-(III)
(2) (A)-(IV), (B)(III), (C)-(IL). (D)-(T)
3)  (A)-D. (B)-IV). (C)-(III). (D)-(IT)
(4) (A)-(IID), (B)-(I). (C)-(II). (D)-(IV)

Options :

53622815417. 1

53622815418. 2

53622815419. 3
53622815420. 4

Question Number : 31 Question Id : 5362283959 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CDMA stands for

(1) Code Diwvision Multiplexed Access
(2) Code Division Multiple Access

(3) Code Division Mobile Access

(4) Code Division Mobile Adapter
Options :

53622815421. 1

53622815422.2

53622815423. 3
53622815424. 4

Question Number : 31 Question Id : 5362283959 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Higiuau (CDMA) =1 a7 # :

(1) == TodisH Aediveses THEy
(20 s T=dE Aediea FEE
(4) =iz fedrem aEEa v



Options :

53622815421. 1
53622815422.2
53622815423. 3
53622815424. 4

Question Number : 32 Question Id : 5362283960 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In display technology. CRT stands for

e Cathode Ray Transmission
(2) Computer Ray Transmission
(3) Cathode Ray Tube

(4) Cathode Ray Transducer

Options :

53622815425 1
53622815426. 2
53622815427. 3
53622815428. 4

Question Number : 32 Question Id : 5362283960 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T e 5, i AW A F A e

(1)  Furs T gmiEs o St
@ IAITE (4) Furs T ZEST
Options :

53622815425 1
53622815426. 2
53622815427. 3
53622815428. 4

Question Number : 33 Question Id : 5362283961 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : External hard disk i1s a primary memory.
Statement IT : In general. pen drives have more storage capacity than external hard disks.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement [I are false
(3) Statement I 15 correct but Statement II 1s false

(4) Statement I is incorrect but Statement IT is true
Options :

53622815429. 1

53622815430. 2

53622815431. 3

53622815432. 4

Question Number : 33 Question Id : 5362283961 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
37 e 9 T E
F (D : W e foeh ok wen A 2 )

wy4 (I) : H=a: U9 S159 1 T21E a9a1 916l 51S 559 ° #0492l 7 |

I9IFA FYAT F ATE | A faed § o 5E I g
(1) =34 L&A [ =F 980 7 |

2 =¥ I3 I3 7o & |

(3) =y I&ed 2 g A [ Ter 2 |

(4  wuE I wEe F g wa 1L oe 2 |
Options :
53622815429. 1
53622815430. 2
53622815431. 3
53622815432. 4

Question Number : 34 Question Id : 5362283962 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT : List IT contains examples of the items Listed in List L.

ListI List IT
(A) Web 2.0 Applications {Il.: Windows 8, 1-08
(B) Search Engines (IT) C++. Java
(C) System Softwares (III) Blogs. Twitter
(D) High level languages (IV) Google. Yahoo

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(III). (C)-(I). (D)-(IT)
(2 (A)-D. B)-(IV). (C)-(I). (D)-(II)
(3) (A)-(D). (B)-(II). (C)-(IV). (D)-(1I)

4 (AIV), B)-I), (C)-(1I), (D)-(II)

Options :

53622815433. 1
53622815434.2
53622815435. 3
53622815436. 4

Question Number : 34 Question Id : 5362283962 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=1-1 1 g=-11 § gt Fifu -

T-I T=t-11
(73) (=T
(A) T3 2.0 TAFETH @ =18, smE-1 1m
®) TE A @D C++, Fra
(C) Towzm Tieza (IID) ==, f2ae

Jr o g faweT 9 @ wE I gfh

(1) (A)-(IV). (B)-(I1I). (C)-(I), (D)-(II)
(2) (A, (B)-(IV). (C)-(I), (D)-(IL)
(3) (A)-(D. (B)-(ILT). (C)-(IV), (D)-(1I)

(4) (A)-(IV). (B)-(I). (C)-(IIL), (D)-(II)
Options :
53622815433. 1
53622815434.2
53622815435. 3
53622815436. 4

Question Number : 35 Question Id : 5362283963 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true?
(A) An algorithm may produce no ocutput
(B) An algorithm expressed 1n a programming language 1s called a computer program.
(C) An algorithm is expressed in a graphical form known as flowchart
(D)  An algorithm can have infinite sequence of instructions.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2)  (A). (B) and (D) only
(3} (C) and (D) only (4) (B) and (C) only
Options :

53622815437. 1
53622815438. 2
53622815439. 3
53622815440. 4



Question Number : 35 Question Id : 5362283963 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frferfia 5 & i § o e A7

(A)  UF THATREA FE AETE AR S A E

(B) T Es § SA4sashd UATEE el T FE A
(C) TTF % B9 H HA9=Tohd T=ZH Fl ¥l =12 Hal 761 7 |

(D) U TENEH ° ST H A B A AT |

4= 27 T et § 5 TE I 9

(1) == (A) 37 (B) (2) FF (A), (B) =% (D)

(3) == (C) #7 (D) (4) =a= (B) 37 (C)
Options :

53622815437. 1
53622815438. 2
53622815439. 3
53622815440. 4

Question Number : 36 Question Id : 5362283964 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Exposure to excessive noise pollution can cause
(A) Hearing impairment
(B) Insommnia
(C) Rise in blood pressure
(D)  Respiratory disease
(E) Reduced work efficiency

Choose the most appropriate answer from the options ziven below :

(1) (A). (C). (E) only (2) (A), (C). (D) only
(3) (B). (C) and (E) only (4) (A). (B). (C) and (E) only
Options :

53622815441. 1
53622815442. 2
53622815443. 3
53622815444. 4

Question Number : 36 Question Id : 5362283964 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



sy

AeAtoh e Tgav § srdfoiEd § FH W w0 A G 7
(&) AW I

(B)  #AFHa

(C) Toa=mE  gig

D)  vIET =t T

(E)  hrEssar 5 & S

Fr T2 w1 foweTi 4 9 =58 = g

(1) === (A). (C) 37 (E) (2) Faa (A), (C) R (D)

(3) == (B). (C) w1 (E) (4) === (A). (B). (C) 31 (E)
Options :

53622815441. 1
53622815442.2
53622815443. 3
53622815444. 4

Question Number : 37 Question Id : 5362283965 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Photo Voltaic system (PV-system) arrange the following from smallest to the largest umit
(A) Module
(B) Array
(C) Solar cell
(D) Array field

Choose the correct answer from the options given below :

(I (B (D). (A (©) (2) (B). (D). (0. A
(3) (O (B). D). A (4) (0. (A). (B). (D)
Options :

53622815445. 1
53622815446. 2
53622815447. 3
53622815448. 4

Question Number : 37 Question Id : 5362283965 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T T ol (i Si-Tawea) 9, i B 59w 9 § 5699 92 5% F FE ° oE

(A) g

B «

(C) =R =e

(D) w&A

4= fF':” 218 fae § T OF T qﬁi 3

1) @B). D). (A). (C) 2)  (B). (D). (C). (A)

(3) (O, (B). (D). (A) 4) (0. (A), (B). (D)
Options :

53622815445. 1
53622815446. 2
53622815447. 3
53622815448. 4

Question Number : 38 Question Id : 5362283966 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of particulate matter pollutants are used in calculation of Air
Quality Index (AQD?

(A) TSP (Total Suspended Particles)

(B) PM 10 (Particulate matters of size 10 micron or less)

(C) PM 2.5 (Particulate matter of size 2.5 micron or less)

(D) PM 1 (Particulate matter of size 1 micron or less)

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A) and (B) only
(3) (B) and (C) only {4) (A),(B)and (C) only
Options :

53622815449. 1
53622815450. 2
53622815451. 3
53622815452. 4

Question Number : 38 Question Id : 5362283966 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT AT e (U 7 ) e § el § " w8 T F ga w0 (Mg de) werh
=TT AT AW R Y

A) P E b (T mEIEs gEEE)

(B) T " 10 (10 91s%H T1 359 FH TN F GEAE)

(C) ¥ vH 2.5 (2.5 WTEHM I ITH FF AR F FEAF)

(D) T TR 1(19EEA 91 39E FH AEE F GEEE)

H4= 57 ™ fawea 4w =wE I =9

(1) == (B). (C) #F (D) (2) Ha= (A) 3T (B)

(3)  Faw (B) 3T (C) (4) Fa7 (A), (B) 37 (C)
Options :

53622815449. 1
53622815450. 2
53622815451. 3
53622815452. 4

Question Number : 39 Question Id : 5362283967 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :
List I ListIT
(International Agreements) (Provisions)
(A} Montreal Protocol (I)  Clean affordable energy
(B) Kyoto Protocol (IT) Controlling consumption and
production of Halons
(C) Convention on Biodiversity (III) Emissions trading
(D) International Solar Alhance (IV) Clearing House Mechanism

Choose the correct answer from the options given below :

(L) (A)-0V). (B)-(II). (C)-(IID. (D)-(I)
(2)  (A)-ID). (B)-[@), (C)-(IID), (D)-(IV)
(3)  (A)-D). (B)-d). (C)-(IV). (D)-(IID)

(4) (A)-(ID). (B)-(IID). (C)-(IV), (D)-(I)

Options :
53622815453. 1
53622815454. 2



53622815455.3
53622815456. 4

Question Number : 39 Question Id : 5362283967 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Z=-1 %1 F=i-11 5 FATe =i

i
(AFTETE HHEET)

(A) =IfEEe TR

(B) TR W

(D) T AT T

Hr fau T TR WA 3 g
(1) (A)-(TV). (B)-(II). (C)-(IIL). (D)-(T)
(2)  (A)-D). (B)-@), (C)-(IID), (D)-(IV)

(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(ILI)

AN FAN (TTY (RY (TTH 60D T M My
Options :

53622815453. 1

53622815454. 2

53622815455. 3

53622815456. 4

THl-11

RIERIES)

(I == T =4

(1) #= Fi @A AN 309= F FA0EE T4
(III) === =T9R

@IV) AT 5TEE TR

Question Number : 40 Question Id : 5362283968 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT :

List I List IT
(Toxic and Hazardous substances) (Major sources)
(A) Vinyl chloride (). Electric Insulations
(B) Polvchlorinated biphenyls (PCBs) (ITYy Fuel combustion
(C) Benzo(a)pyrene (IIT) Plastics Industral uses
(D) Polycyclic Aromatic Hydrocarbons (IV) Waste Incineration

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IIT). (C)-(IV). (D)-(IT)
2 (A)D. (B)-IID. (C)-ID). (D)-(IV)
(3)  (A)IID. (B)-(IV). (C)-(D). (D)-(D)

(4) (A)-(IID). (B)-(I). (C)-(IV). (D)-(I1L)
Options :

53622815457. 1

53622815458. 2

53622815459. 3

53622815460. 4

Question Number : 40 Question Id : 5362283968 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 %1 g=-11 & gafem Fifso

EEiB! =11
(Fereehey. 1T AT T ) (3= =)
(A) == s (I =efazs s=gem
(B) diciFeHes AErEEed (4 = i) ) == =# A
(C) == (1) wrdHA AID) e 1 sttt o
Fr fau o femewi 9 ® O T w9

(1) (A)-(D. (B)-(IID). (C)-(IV), (D)-(I)
(2) (A)-(I). (B)-(I1I). (C)-(ID). (D)-(IV)
(3)  (A)-(ID. (B)-(IV). (C)-(1I). (D))

4  (A)-D. (B)-(D. (C)-IV). (D)-(II)
Options :
53622815457. 1
53622815458. 2
53622815459. 3
53622815460. 4

Question Number : 41 Question Id : 5362283969 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year. All India Council for Technical Education was set up as a statutory body by
an Act of Parhament?

(1) 1986 (2) 1987
(3) 1988 (4) 1939
Options :

53622815461. 1
53622815462. 2
53622815463. 3
53622815464. 4

Question Number : 41 Question Id : 5362283969 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FeAfeiEa 5 # 8 79 # GEE F I gR UF A WaE F EY A Aige GRdE aEAe e
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(1) 1986 (2) 1987
(3) 1988 (4) 1989
Options :

53622815461. 1
53622815462. 2
53622815463. 3
53622815464. 4

Question Number : 42 Question Id : 5362283970 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the characteristics of an effective team 1n an institution of higher learning?

(A)  The atmosphere tends to be informal in which members of team are involved.
(B) There 1= a lot of discussion in which everyone participates.

(C) The task of the group 1s well understood and accepted by the group members.
(D)  The members of the group are not afraid of putting forth their ideas.

(E) The members of the group avold disagreement and conflict among themselves.

Choose the correct answer from the options given below :

(1) (A). (B). (C). (D) only (2) (B), (O). (D), (E) only
(3)  (C). (D). (E), (A) only (4) (E). (A). (B). (C) only
Options :

53622815465. 1
53622815466. 2
53622815467. 3
53622815468. 4

Question Number : 42 Question Id : 5362283970 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=9 AT % Rl =UE 4 T T9E 2 A F el e E
(A)  AFEE S B 7, T Jm o e i vl = R

(C) =Ur & FHE =+ =31 Tr HHE A1 & 31 TYE % TEAT H T EE w6 E |
(D) TYE & T AU {990 F WAd i ° 5 59 A

(E) THE % HeE AU | HAHg AN TEY ¥ 5= F |

4= T fawet | | @R Ie 9
(1) == (A), (B). (C), (D) (2) F== (B). (C), (D). (E)
(3) A (C). (D). (E). (A) (4) Fa= (E). (A). B). (C)

Options :

53622815465. 1
53622815466. 2
53622815467. 3
53622815468. 4

Question Number : 43 Question Id : 5362283971 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Helping individuals and social groups acquire social values. contributes to development of :

(1) Environmental awareness (2) Enwvironmental knowledge
(3) Environmental attitude (4) Enwvironmental skills

Options :

53622815469. 1
53622815470. 2
53622815471. 3
53622815472. 4

Question Number : 43 Question Id : 5362283971 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TTETTF qoA1 e H H A AN WESE qYE i SEEa e aEE w5l w

{1) IPJrﬂl.ﬂ'\l q ARTEhd (2 == T i A
(3) T wrgh (4) TEEE T

Options :



53622815469. 1
53622815470. 2
53622815471. 3
53622815472. 4

Question Number : 44 Question Id : 5362283972 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The principal responsibilities of Academic Council in a University include

(A)
(B)

(©)

(D)

(E)

Maintenance of quality and standards of academic programmes

Planning, coordination. development, oversight and review of academic programmes
of University

Laving down the essential qualifications for recruitment of faculty in wvarious
disciplines.

Framing and revising/updating the contents of courses of wvarious academic
programmes.

Approval of fee structure for various academic programmes

Choose the correct answer from the options given below :

(1)
(3)

Options :

(A). and (B) only (2) (A). (B). (D) and (E) only
(A). (B). (C) and (D) only (4 (A). (B), (C) and (E) only

53622815473. 1
53622815474. 2
53622815475.3
53622815476. 4

Question Number : 44 Question Id : 5362283972 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(C) Tafu= fawgi § gwm—gaea i 5di & o savas seas =0 e w0 )

(D)  Tafa= si&ors FEFE & USa%a] & a1l F d9W A1 A0 FeHE /a6 |

(E) Tafe= aafrs we= & foo fm 5 2 $ =i |
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1)  F== (A) 3 (B) @ = @), B). () A (B)
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Options :

53622815473. 1
53622815474. 2
53622815475. 3
53622815476. 4

Question Number : 45 Question Id : 5362283973 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT : List — I and List — II consist of types of procedures used for
continuous appraisal of teaching and non-teaching staff in higher education and
characteristics of these appraisal respectively :

List I Last II
(Tvpes of Appraisal) (Characteristics)

(A) Developmental (I) Concerned with doing and achieving

(B) Managerial (I) Concerned with moral. ethical and
professional values

(C) Laissez-faire (III) Concerned with maintenance of social
control

(D) Judgemental (IV) Concerned with the importance of

self-development.

Choose the correct answer from the options given below :

1) (A)-(ID). (B)-AV). (C)-(ID), (D)-(I)
@ (A-ID, (B)-(D). (C)-IV). (D)-(I1I)
(3)  (A)-D. (B)-(IID). (C)-(IT). (D)-(IV)
4) (A)-(IV), (B)-(II), (C)-(1D), (D)-(T)

Options :

53622815477. 1
53622815478. 2
53622815479. 3
53622815480. 4

Question Number : 45 Question Id : 5362283973 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gL F eI & gafea Fifaw o geftd o g0 9 s v=a foen o fer oF foae At F

-1 T=1-11
(AT F T (femram)
(A) TaFmETT @ 7 FH A 9T F O Head
(B) TEEATEE D) =%, fE-HifeE 97 =EEaE e o3
Tataa
(C) ===Ey (IID) =T e 7ge o gaiad
(D) ToraT (IV) =ea-fa=m % 954 ¥ Taiaq

Fr fou T e 9 H wE I g
(1) (A)-(III). (B)-(IV). (C)-(IL). (D)-(I)
(2) (A)-(II). (B)-(I), (C)-(IV), (D)-(I1I)
(3)  (A)-D. (B)-(IID), (C)-(ID). (D)-(IV)
(4) (A)-(IV). (B)-(IL). (C)-(IIT). (D)-(I)
Options :
53622815477. 1
53622815478. 2

53622815479. 3
53622815480. 4

Sub-Section Number : 3
Sub-Section Id : 536228157
Question Shuffling Allowed : Yes

Question Id : 5362283974 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the passage and answer questions 46 to 50.

‘Power” has been differentiated by numerous authors and practitioners. Amital Etzioni was
among the first to describe individuals who are able to induce other individuals to comply
and take action because of their position 1n the organization as having position power; those
who derive their power from their followers are considered to have personal power. Some are
skilled enough to have both. Position power is the extent to which those people to whom
managers report are willing to delegate authority and responsibility to them. So position
power tends to flow down in an organization. This 1s not to say that leaders do not have any
1mpact on how much position power they accrue. Thev certainly do. The confidence and trust
they develop with the people around them will often determine the willingness of upper
management to delegate to them. Remember. though. that whatever power 1z delegated
downward can also be taken back. Personal power 1z the extent to which followers respect,
feel good about. and are committed to the leader. They believe that their own needs and
goals will be recognized. supported, and facilitated by their leader. As such personal power in
an organisational setting comes from below - from the followers — and so flows up 1n an
organisation. Personal power 1s not inherent in the leader. If 1t were. managers with
perzonal power could take over any department and have the same commitment and rapport
they had in their last department. Personal power is a day-to-day phenomenon. Personal
power 1s a eritical part of having and demonstrating emotional intelligence.

Sub questions

Question Number : 46 Question Id : 5362283975 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When individuals In an organisation ask others to comply with their instructions, it is

identified as

(1) organisational power (2) positional power
(3) authoritarian power (4) delegated power
Options :

53622815481. 1
53622815482. 2
53622815483. 3
53622815484. 4

Question Number : 47 Question Id : 5362283976 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Personal power emanates from

(1) the group of managers

(2) the delegation of responsibility

(3) the followers

(4) the top-level executives In an organisation

Options :

53622815485. 1
53622815486. 2
53622815487. 3
53622815488. 4



Question Number : 48 Question Id : 5362283977 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Delegation of power to managers depends upon

(1) downward flow of authority (2) the whimsicality of top managers
(3) the people around the management (4) the trust reposed by the top managers
Options :

53622815489. 1
53622815490. 2
53622815491. 3
53622815492. 4

Question Number : 49 Question Id : 5362283978 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Position power. when delegated 1s

(1) volatile (2) permanent
(3) absolute (4) 1nherent
Options :

53622815493. 1
53622815494. 2
53622815495. 3
53622815496. 4

Question Number : 50 Question Id : 5362283979 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage recognizes the critical role of
(1 faith of the leader in his followers

(2) emotional intelligence to have personal power

(3) needs and goals of managers for personal power

(4) power flowing upwards so that managers can gain personal power
Options :

53622815497. 1
53622815498. 2
53622815499. 3
53622815500. 4

Question Id : 5362283974 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362283975 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
v Tl Ten 3 % ==iod g0 F AW SS9 TS S F o FEd 7 A1 39 39 THE TR

(1)  TFmE o (2) foaias oifFa
(3)  wfasn Tt o (4) it wie
Options :

53622815481. 1
53622815482. 2
53622815483. 3
53622815484. 4

Question Number : 47 Question Id : 5362283976 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  v&o= % 798 |

(2) = & wEeE o

(3)  eAgEEE =

(4) T A == T R SRR H
Options :

53622815485. 1
53622815486. 2



53622815487. 3
53622815488. 4

Question Number : 48 Question Id : 5362283977 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) T AL - T e T i
(B) N e (4) =3 H=E TETH gN1 Ay A
Options :

53622815489. 1
53622815490. 2
53622815491. 3
53622815492. 4

Question Number : 49 Question Id : 5362283978 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  wfew =l 2 @) T A 2
@  freder w2 (4) wE 26 2
Options :

53622815493. 1
53622815494. 2
53622815495. 3
53622815496. 4

Question Number : 50 Question Id : 5362283979 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(2) TSI TS o O At wife B =i
(3) ATk wifw = Tow, FEe! F1 STETIFATE UF wa
(4)  wifea ST E 2 AR TEEE SAfGaE i 01 E

Options :

53622815497. 1

53622815498. 2

53622815499. 3
53622815500. 4



PART II Yoga

Section Id : 53622854
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228158
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283980 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the aim of Yoga?

(1) Realization of God (2) To achieve kaivalya
(3) To achieve super powers (4) To achieve Good Health
Options :

53622815501. 1
53622815502. 2
53622815503. 3
53622815504. 4

Question Number : 51 Question Id : 5362283980 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T ] AT T R

(1)  =va TR (2) Haeg i Ty
(3)  TH =i i WH (4) =5 = T1H
Options :

53622815501. 1
53622815502. 2
53622815503. 3
53622815504. 4

Question Number : 52 Question Id : 5362283981 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

How many ‘Parvas’ are there in Mahabharatha?

(1) 24 Z) 12
(3) 18 (4 9
Options :

53622815505. 1
53622815506. 2
53622815507. 3
53622815508. 4

Question Number : 52 Question Id : 5362283981 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Ha14 ir ﬁ "‘:1-'1 -:.. 1135?1 %?

(1) 24 2y 12
(3) 18 (4 9
Options :

53622815505. 1
53622815506. 2
53622815507. 3
53622815508. 4

Question Number : 53 Question Id : 5362283982 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Jnana of Hetuman revealed through Hetu 1s called

(1) Praman (2) Prameya
(3) Anuman (4) Agam
Options :

53622815509. 1
53622815510. 2
53622815511. 3
53622815512. 4

Question Number : 53 Question Id : 5362283982 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



4 % T ZEE T T 2

(1) == (2 W
(3) AT (4) =TH
Options :

53622815509. 1
53622815510. 2
53622815511.3
53622815512. 4

Question Number : 54 Question Id : 5362283983 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the unigue mean to overcome three kinds of afflictions according to Sankhya?

(1) Jnana vijnana (2) Vyakta jnana
(3) Auvalkta Jnana (4) Vyakta-avyakta-jna vijnana
Options :

53622815513. 1
53622815514. 2
53622815515.3
53622815516. 4

Question Number : 54 Question Id : 5362283983 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS F ATEE, 9 THE &, 303 ° fHaner # fafre anm wmm et

(1) FA-TT9M (2) =F FqF
{3} H=A A (4) o —H=Th T —i-'aﬂ|'1
Options :

53622815513. 1
53622815514. 2
53622815515.3
53622815516. 4

Question Number : 55 Question Id : 5362283984 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Shrimad Bhagavadgita the term "Sham’ stands for:

(1) Control over Antahkaran (2) Control over Sense organs
(3) Control over desires (4) Control over objects
Options :

53622815517. 1
53622815518. 2
53622815519. 3
53622815520. 4

Question Number : 55 Question Id : 5362283984 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A TTEEIAT = STTER IH H 1Y A

(1) 0T T U @y e
(3) AT T P
Options :

53622815517. 1
53622815518. 2
53622815519.3
53622815520. 4

Question Number : 56 Question Id : 5362283985 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Mandukya upanishad, ‘Prajna’ is related to which state of Consciousness?

(1) Turiya (2) Swapna
(3) Susupti (4) dJagrat
Options :

53622815521. 1
53622815522.2
53622815523. 3
53622815524. 4

Question Number : 56 Question Id : 5362283985 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U 3992 F AR WS SaA] F 5 STEE § HeEiad 2 ¢

(1) T (2) =4
(3 =IW (4) =
Options :

53622815521. 1
53622815522.2
53622815523.3
53622815524. 4

Question Number : 57 Question Id : 5362283986 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which chapter of Shrimad Bhagwadgita Kshetra and Kshetrajna has been described?

(1) Dwadasha (Twelfth) (2) Ekadasha (Eleventh)
(3) Trayvodasha (Thirteenth) (4) Panchadasha (Fifteenth)
Options :

53622815525 1
53622815526.2
53622815527. 3
53622815528. 4

Question Number : 57 Question Id : 5362283986 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s, s 3 a9 S A e e e 27

=

(1) e EREE ] @) s ()
3 ) (4) w=E (el
Options :

53622815525. 1
53622815526. 2
53622815527. 3
53622815528. 4

Question Number : 58 Question Id : 5362283987 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Chhandogya Upamshad. Aadhidaivik Udageeth upasana 1z indicated to:

(1) Vayudeva (2) Agmideva
(3) Rudra (4) Aaditya
Options :

53622815529. 1
53622815530. 2
53622815531.3
53622815532. 4

Question Number : 58 Question Id : 5362283987 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST IS F ATAR AfaefaF Y IIEET F T I 2

@ LR @ wfrad

@ = @) st F
Options :

53622815529. 1
53622815530. 2
53622815531.3
53622815532. 4

Question Number : 59 Question Id : 5362283988 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to Taittariye Upamishad. Anna 1s related to which Vyahrti?

(1) Bhuh (2) Bhuvah
{3) Swah {4y Mahah
Options :

53622815533. 1
53622815534. 2
53622815535.3
53622815536. 4

Question Number : 59 Question Id : 5362283988 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



At i % s s e e & w27

(1) i (2) 4o
(3 = (4) =
Options :

53622815533. 1
53622815534. 2
53622815535. 3
53622815536. 4

Question Number : 60 Question Id : 5362283989 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to Yoga Vashistha how many types of Vyadhis Which Affecting the organisms

have been categorised?

(1) Four tvpes (2) Three types
(3) Five types (4) Two types
Options :

53622815537. 1
53622815538. 2
53622815539.3
53622815540. 4

Question Number : 60 Question Id : 5362283989 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT ATOE F ATAR IO H w1 = S # e @ A e e e

() =m 2 =
(3) = (4) =
Options :

53622815537. 1
53622815538. 2
53622815539. 3
53622815540. 4

Question Number : 61 Question Id : 5362283990 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Shwetashwatar Upanishad, through which of the following ‘Paramakaran

swarupa Paramatma’ can be ascertained?

(1) Rajavoga (2) Sankhva voga
(3) Karma yoga (4) Laya yoga
Options :

53622815541. 1
53622815542.2
53622815543. 3
53622815544. 4

Question Number : 61 Question Id : 5362283990 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UATYAL IR F SEE S U RO g T S ST W 5 2 7

(1)  T=Em (2) TEEEm
(3w (4) ==
Options :

53622815541. 1
53622815542.2
53622815543. 3
53622815544. 4

Question Number : 62 Question Id : 5362283991 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Nadbindu Upanishad. in which matra of Omkar. Prana Tvag results in
attainment of Brahmaloka.

(1) Fifth (2) Tenth
(3) Ninth (4) Twelfth
Options :

53622815545. 1
53622815546. 2
53622815547. 3
53622815548. 4

Question Number : 62 Question Id : 5362283991 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) Tl (2) ==
(3 (4) e
Options :

53622815545. 1
53622815546. 2
53622815547.3
53622815548. 4

Question Number : 63 Question Id : 5362283992 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Nadbindu Upanishad the twelfth matra of Omkar 1s known as:

(1) Dhriti (2) Shankar
(3) Brahmi (4) Vaishnawn
Options :

53622815549. 1
53622815550. 2
53622815551.3
53622815552. 4

Question Number : 63 Question Id : 5362283992 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) EIG (2) TR
(3) =l (4) Foort
Options :

53622815549. 1
53622815550. 2
53622815551.3
53622815552. 4

Question Number : 64 Question Id : 5362283993 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Kathopanishad. where 1s the inner self situated in the size of the thumb?

(1) In mastishk (2) In Murdha
(3 In Hridayva (4) In Bhrikut:
Options :

53622815553. 1
53622815554. 2
53622815555.3
53622815556. 4

Question Number : 64 Question Id : 5362283993 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) == (2 gaid
3 wTAT (4) gPRH
Options :

53622815553. 1
53622815554. 2
53622815555.3
53622815556. 4

Question Number : 65 Question Id : 5362283994 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who 1= the Rishi of Prashnopanishad?

(1) Garg (2) Jaimin
(3) Vashishtha (4) Piplada
Options :

53622815557. 1
53622815558. 2
53622815559. 3
53622815560. 4

Question Number : 65 Question Id : 5362283994 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) (2) A
(3)  aAmm (4) Tooemg
Options :

53622815557. 1
53622815558. 2
53622815559. 3
53622815560. 4

Question Number : 66 Question Id : 5362283995 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Yoga Vashistha, body has been compared with which of the following?

(1) Deer (2) Mountain
(3) Tree (4) Lion
Options :

53622815561. 1
53622815562. 2
53622815563.3
53622815564. 4

Question Number : 66 Question Id : 5362283995 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o A § IR i go e T R

(1) b i (2) 9=4d
(3) 3F= (4) TH=
Options :

53622815561. 1
53622815562. 2
53622815563. 3
53622815564. 4

Question Number : 67 Question Id : 5362283996 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Maharshi Patanjali, with the revelation of which Jnana. there 1= deep dearth of

trishna in the attributes of ‘Prakrit1™?

(1) Purusha (2) Praknmta
(3) Apar valragya (4) Samprajat samadhi
Options :

53622815565. 1
53622815566. 2
53622815567. 3
53622815568. 4

Question Number : 67 Question Id : 5362283996 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= s % SEER PR S E TE % 90§ g o AT S e A 7

1 @ TFME
(3) ¥ Fmy (4) FEIEE FEE
Options :

53622815565. 1
53622815566. 2
53622815567. 3
53622815568. 4

Question Number : 68 Question Id : 5362283997 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Maharshi patanjali has described the nature of ‘Drashta’ in

(1) Samadhipad (2) Sadhanpad
(3) Vibhuti pad (4) Kaivalya pad
Options :

53622815569. 1
53622815570. 2
53622815571.3
53622815572. 4

Question Number : 68 Question Id : 5362283997 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



el TesAlel 3 ZUT 1 S=EY RE UE ° Jid e 27

(1) TS (2) =TEATE
(8) Ty = (4) F==7 T
Options :

53622815569. 1
53622815570. 2
53622815571. 3
53622815572. 4

Question Number : 69 Question Id : 5362283998 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Maharshi Patanjali practicing samyvama at which of the areas leads to freedom

from hunger and thirst?

(1) WNaabhi Chakra (2) Kanthakoopa
(3) Kurma nadi (4) Chandrama
Options :

53622815573 1
53622815574. 2
53622815575.3
53622815576. 4

Question Number : 69 Question Id : 5362283998 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HE(Y qeeAie] & SER IR F R T W OEEY F T 9 vE e g i w1 2 7

(1) A9 =% (2) FUSFT
@ (4) ==
Options :

53622815573. 1
53622815574. 2
53622815575.3
53622815576. 4

Question Number : 70 Question Id : 5362283999 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Yogasutra the element which enables one to reveal all the distinctive factors in
the objects looking alike 1s.

(1) Jnana (2) Vivekj Jnana
(3) “Pratibh Jnana (4) Taraka Jnana
Options :

53622815577. 1
53622815578. 2
53622815579. 3
53622815580. 4

Question Number : 70 Question Id : 5362283999 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ATEA F FTHE T THF Ufad 2T Sege § A 399 a6l 957 S A TeAe 0 2, 35 F6 Fad 2 7

(1) =™ AN CEEERIE
(3) oy 74 (4) AF T
Options :

53622815577. 1
53622815578. 2
53622815579. 3
53622815580. 4

Question Number : 71 Question Id : 5362284000 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to yoga sutra. the knowledge of objects existing In micro form interrupted,

remotely placed 1s attained through the which Pravritti:

(1) Vishayavati (2) Pravrityalokanyasat
(3) Bahirkalpita (4) Prakritilaya
Options :

53622815581. 1
53622815582.2
53622815583. 3
53622815584. 4

Question Number : 71 Question Id : 5362284000 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TEA F FIER GEE, SEOEEE 31 5 59 | T4 FEge W 7E F 5 9g % ge W we e e

(1) EERE (2)  THETAETEE
(8)  wimrhieaaT (4) TFfEE
Options :

53622815581. 1
53622815582. 2
53622815583. 3
53622815584. 4

Question Number : 72 Question Id : 5362284001 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Maharshi Patanjali which form of knowledge is revealed at the end of the

“Parinama”

(1) Moment (Eshan) (2)  Sequence (krama)

(3) Culmination (parinati) (4) Chronicles of time (Kshan-Krama)
Options :

53622815585. 1
53622815586. 2
53622815587.3
53622815588. 4

Question Number : 72 Question Id : 5362284001 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= UAsale = STIEE T0F =&Y, TRoE & A= ° 709 747 7, 39 59 Fad 8 ¢

(1) ] () =4
(3) i (4) @A
Options :

53622815585. 1
53622815586. 2
53622815587. 3
53622815588. 4

Question Number : 73 Question Id : 5362284002 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Patanjal Yoga sutra, how many types of ‘Drishya’ has been mentioned?

(1) Three types (2) four types
(3) Five types {(4) seven types
Options :

53622815589. 1
53622815590. 2
53622815591. 3
53622815592. 4

Question Number : 73 Question Id : 5362284002 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(&

(1 @F (2) =m
(3 = (4 ¥E
Options :

53622815589. 1
53622815590. 2
53622815591. 3
53622815592. 4

Question Number : 74 Question Id : 5362284003 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gherenda Samhita which Mudra should be practised before practising Yoni

Mudra?

(1) Tadagi (2) Shaktichalam
(3) Shambhawn (4) Khechar
Options :

53622815593. 1
53622815594. 2
53622815595. 3
53622815596. 4

Question Number : 74 Question Id : 5362284003 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HITS HWiEAT o SET A GE1 § gF R qET 1 S e A ?

(1)  @sri (2) AT
(3) = (4) =
Options :

53622815593. 1
53622815594. 2
53622815595.3
53622815596. 4

Question Number : 75 Question Id : 5362284004 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Hatharatnavali. which elements get unified by the practice of Moolabandha

(1) Naad and samaan vayu (2) Praana and apaan vayu
(3) Praana and samaan vayu (4) Praana and udaan vayu
Options :

53622815597. 1
53622815598. 2
53622815599. 3
53622815600. 4

Question Number : 75 Question Id : 5362284004 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ZteTaE ] % FTAT GeEy % ST W R ° qed UF 2 A 7 ¢

(1) 912 79 T9H 99 (2) T TF A 9
(3) W U #HH A (4) T TE =E AE
Options :

53622815597. 1
53622815598. 2
53622815599. 3
53622815600. 4

Question Number : 76 Question Id : 5362284005 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Hatha ratnavali. control of chittavriti is called

(1) Yoga (2) Mahavoga
(3) Shuddha yoga (4) Vishuddha voga
Options :

53622815601. 1
53622815602. 2
53622815603. 3
53622815604. 4

Question Number : 76 Question Id : 5362284005 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@ =g AM (4) TEErg =
Options :

53622815601. 1
53622815602. 2
53622815603. 3
53622815604. 4

Question Number : 77 Question Id : 5362284006 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Vashishtha Samhita, which yvogic practice can free from a sin hike foeticide?

(1) Pranayama (2) Pratyahara
(3) Dhyana (4) samadhi
Options :

53622815605. 1
53622815606. 2
53622815607. 3
53622815608. 4

Question Number : 77 Question Id : 5362284006 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o1 TlEAT % STER FA A SASTE GO 5O FH W H G A 2

(1) TTOTETH (2) THEER
(3) T (4) @AY
Options :

53622815605. 1
53622815606. 2
53622815607. 3
53622815608. 4

Question Number : 78 Question Id : 5362284007 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Shiva Samhita. what 1s another name of Ida Nadi?

(1) Varana (2) Chitra
(3) Sushumna (4) Brahma
Options :

53622815609. 1
53622815610. 2
53622815611.3
53622815612. 4

Question Number : 78 Question Id : 5362284007 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ToramtaaT & =R 227 AT F TE AH T E 7

(1) T (2 ==
(3) "I (4) &
Options :

53622815609. 1
53622815610. 2
53622815611. 3
53622815612. 4

Question Number : 79 Question Id : 5362284008 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Aeccording to Shiva Samhita. the Maya. full of Rajoguna 1s known as

(1) Durga (2) Saraswathi
(3) Lakshmi (4) Kah
Options :

53622815613. 1
53622815614. 2
53622815615. 3
53622815616. 4

Question Number : 79 Question Id : 5362284008 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ToraEea % A997 T § 9 9T FE 9 H A 7

r i

(1) 4l (2) =T
(3)y = (4) =l
Options :

53622815613. 1
53622815614. 2
53622815615. 3
53622815616. 4

Question Number : 80 Question Id : 5362284009 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Uninterrupted and interrupted methods are associated with:

(1) Perception (2) Attention
(3) Sensation (4) learning
Options :

53622815617. 1
53622815618. 2
53622815619. 3
53622815620. 4

Question Number : 80 Question Id : 5362284009 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



st fafa aw farm fafy frefi fafemf 27

(1) Tegao (2) #HI9H
(3) T (4) =frm
Options :

53622815617. 1
53622815618. 2
53622815619. 3
53622815620. 4

Question Number : 81 Question Id : 5362284010 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to psychologists the second stage of memory 1s

(1) Accumulation (7) Retrmeval
(3) Coding (4) Sensitive
Options :

53622815621. 1
53622815622. 2
53622815623. 3
53622815624. 4

Question Number : 81 Question Id : 5362284010 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T @ T
@ T @ usl
Options :

53622815621. 1
53622815622. 2
53622815623. 3
53622815624. 4

Question Number : 82 Question Id : 5362284011 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to psvchologists how many functions are particularly performed by consciousness?

(1) Two (2) Four
(3) Six (4) Eight
Options :

53622815625. 1
53622815626. 2
53622815627. 3
53622815628. 4

Question Number : 82 Question Id : 5362284011 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HATESTH] T ATET =9 AT =9 w9 F e wwr & e R e 27
1) = (2) =
(3) ER (4) =113

Options :

53622815625. 1
53622815626. 2
53622815627. 3
53622815628. 4

Question Number : 83 Question Id : 5362284012 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Deoxygenated blood flows in which of the following artery

(1) Pulmonary Artery (2) Abdominal Aorta
(3) Hepatic Artery (4) Renal Artery
Options :

53622815629. 1
53622815630. 2
53622815631. 3
53622815632. 4

Question Number : 83 Question Id : 5362284012 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



[ AiFETE g ° T Fefaiad 8 7 B and ® waEried g 2 e

(1)  TemT 7 (2) AssiiHAE Ul
(3) feufes = (4) Tt w
Options :

53622815629. 1
53622815630. 2
53622815631. 3
53622815632. 4

Question Number : 84 Question Id : 5362284013 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Vermiform Appendix is an out growth of

(1) [leum (2)  Jejunum
(3 Ascending colon (4) Caecum
Options :

53622815633. 1
53622815634. 2
53622815635. 3
53622815636. 4

Question Number : 84 Question Id : 5362284013 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

r

. =ik SUETR O o i o ';'_-,r-
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(1) s (2) T A
(3)  »f==T == (4) Trwa =i
Options :

53622815633. 1
53622815634. 2
53622815635. 3
53622815636. 4

Question Number : 85 Question Id : 5362284014 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The disease occurs due to deficiency of mboflavin is

(1) Megaloblastic anaemia (2) Angular stomatitis
(3) Pellagra (4) Pernicious anaemia
Options :

53622815637. 1
53622815638. 2
53622815639. 3
53622815640. 4

Question Number : 85 Question Id : 5362284014 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEETFAT = AT H HA A1 I A R Y

(1)  forrermentez v (2) wIew FEmEaEiE
(3)  TeEm (4) I o
Options :

53622815637. 1
53622815638. 2
53622815639. 3
53622815640. 4

Question Number : 86 Question Id : 5362284015 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Unsurpassed happiness is achieved by

(1) Asteva (2) Tapas
(3) Santosha (4) Swadhyaya
Options :

53622815641. 1
53622815642. 2
53622815643. 3
53622815644. 4

Question Number : 86 Question Id : 5362284015 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) ==H (2) @A
(3) TAmH (4) = H
Options :

53622815641. 1
53622815642. 2
53622815643. 3
53622815644. 4

Question Number : 87 Question Id : 5362284016 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Beeja Mantra of manipura chakra is

(1) Yam (2) Ram
(3) Lam (4) Vam
Options :

53622815645. 1
53622815646. 2
53622815647. 3
53622815648. 4

Question Number : 87 Question Id : 5362284016 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oo =% = S O R

(1) B (2) T
3 = (4) =
Options :

53622815645. 1
53622815646. 2
53622815647. 3
53622815648. 4

Question Number : 88 Question Id : 5362284017 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s not the sign of a physically healthy individual?

(1 Good appetite (2) Regular activity of bowels
(3) Discordant bodily movement (4) Sound sleep
Options :

53622815649. 1
53622815650. 2
53622815651. 3
53622815652. 4

Question Number : 88 Question Id : 5362284017 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AfafEs 9 5 591 9 =9 § =5 = 5 680 T69 27

(1)  ==F 4= (2) 31 i FEEE TR
@) ww s A @) T F
Options :

53622815649. 1
53622815650. 2
53622815651. 3
53622815652. 4

Question Number : 89 Question Id : 5362284018 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gheranda Sambhita, sthirata can be acquired by

(1) Mudra (2) Pratyvahara
(3) Pranavama (4) Asana
Options :

53622815653. 1
53622815654. 2
53622815655. 3
53622815656. 4

Question Number : 89 Question Id : 5362284018 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) gt (2) TEER
(3) aremEE (4) HA
Options :

53622815653. 1
53622815654. 2
53622815655. 3
53622815656. 4

Question Number : 90 Question Id : 5362284019 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not included under Antaraya?

(1) Angamejayatva (2) Anavasthitatva
(3 Avirati {4) Alasva
Options :

53622815657. 1
53622815658. 2
53622815659. 3
53622815660. 4

Question Number : 90 Question Id : 5362284019 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ffeafiga o o 997 A90E F Aad Arted Jai e v

—

(1) FETEE (2) AT
(3) Aff (4) T
Options :

53622815657. 1
53622815658. 2
53622815659. 3
53622815660. 4

Question Number : 91 Question Id : 5362284020 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Food predominant in guru guna is beneficial for persons of which prakrit1?

(1) Tridoshaja prakriti (2) Both vataja and kaphaja prakrti
(3) Both vataja and pittaja prakriti (4) Both pittaja and kaphaja prakriti
Options :

53622815661. 1
53622815662. 2
53622815663. 3
53622815664. 4

Question Number : 91 Question Id : 5362284020 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 7 T TAHA AT TER AT T 9 S F o g e 2 e

(1)  FEmw e (2) T9d UF FEE TP
(3) ElER R ERE TG (4) oA 73 FFF TF
Options :

53622815661. 1
53622815662. 2
53622815663. 3
53622815664. 4

Question Number : 92 Question Id : 5362284021 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gheranda Samhita “ Shambhavijayate dhruvam” 1s the benefit of

(1) Dhauti (2) Net1
(3) Trataka (4) Kapalbhati
Options :

53622815665. 1
53622815666. 2
53622815667. 3
53622815668. 4

Question Number : 92 Question Id : 5362284021 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(3) ATZF AT (4) TGN
Options :

53622815665. 1
53622815666. 2
53622815667. 3
53622815668. 4

Question Number : 93 Question Id : 5362284022 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gheranda Samhita “Khecharisiddhimapnuyat” is the benefit of

(1) Dhaut1 (2) Net1
(3) Trataka (4) Kapalbhati
Options :

53622815669. 1
53622815670. 2
53622815671. 3
53622815672. 4

Question Number : 93 Question Id : 5362284022 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) (@ =
(3) AT A (4) FIEANT F
Options :

53622815669. 1
53622815670. 2
53622815671. 3
53622815672. 4

Question Number : 94 Question Id : 5362284023 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Anxiety and depression fall within the category of

(1) somatic disorder (2) psychological disorder
(3) neurological disorder (4) psychoneurological disorder
Options :

53622815673. 1
53622815674. 2
53622815675. 3
53622815676. 4

Question Number : 94 Question Id : 5362284023 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Zfvadr va e e O % H@aTa o4 7

(1) =W o (2) wFEF =R
(3) =t fan (4) =AETEEE
Options :

53622815673. 1
53622815674. 2
53622815675. 3
53622815676. 4

Question Number : 95 Question Id : 5362284024 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following combination 1s a feature of purana?

(1) sarga and pratisarga (2) prasna and anuvaka
(3) mandala and adhyaya (4) kanda and adhyvaya
Options :

53622815677. 1
53622815678. 2
53622815679. 3
53622815680. 4

Question Number : 95 Question Id : 5362284024 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) = st (2) TTH AR FAETE
(3) IF;',F{ _:'FnT e (4) TI_S :'FHT STEATT
Options :

53622815677. 1
53622815678. 2
53622815679. 3
53622815680. 4

Question Number : 96 Question Id : 5362284025 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Practices of pranayam principally provides control over:

(1) Autonomous nervous system (2) Central nervous system
(3) Sympathetic nervous system (4) Parasympathetic nervous system
Options :

53622815681. 1
53622815682. 2
53622815683. 3
53622815684. 4

Question Number : 96 Question Id : 5362284025 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) =mET a=E @ (2) i3 af== a7

(3)  wF b (4) T Al A
Options :

53622815681. 1
53622815682. 2
53622815683. 3
53622815684. 4

Question Number : 97 Question Id : 5362284026 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to “Teaching methods of vogic practices” practice of which of the following asanas
result 1n static pulls and tone in muscles?

(1) Meditative asana
(24 Relaxative asana
(3) Stimulating asanas (samvardhana tamk)
(4) Relaxative and meditative asana
Options :
53622815685. 1
53622815686. 2

53622815687. 3
53622815688. 4

Question Number : 97 Question Id : 5362284026 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘FrreE fi seeE fatmt F osgEn e s & oaew 9 fvee foee s o 9 =y qm

=T 77

(1) AT AT (2) TorfseTens wmEe

(3)  TEUATEE I (4) TITITTTEF TF ST ST
Options :

53622815685. 1
53622815686. 2
53622815687. 3
53622815688. 4

Question Number : 98 Question Id : 5362284027 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the ” Teaching methods of vogic practices” conventional patterns of successful
teaching are of

(1) two types (2) fourtypes
(3) five types (4) =even types
Options :

53622815689. 1
53622815690. 2
53622815691. 3
53622815692. 4



Question Number : 98 Question Id : 5362284027 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 = (2) =
(3 u= (4) ==
Options :

53622815689. 1
53622815690. 2
53622815691. 3
53622815692. 4

Question Number : 99 Question Id : 5362284028 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to “Teaching methods of yoglc practices” how many factors are invelved in

teaching methods:

(@ §] five (2) si1x
(3) seven (4) eight
Options :

53622815693. 1
53622815694. 2
53622815695. 3
53622815696. 4

Question Number : 99 Question Id : 5362284028 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1 == (2) =
(3) = (4) =2
Options :

53622815693. 1
53622815694. 2
53622815695. 3
53622815696. 4

Question Number : 100 Question Id : 5362284029 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which asana to be performed during the practice of shakticalane mudra?

(1) Padmasana (2) DBhadrasana
(3) Simhasana (4) Siddhasana
Options :

53622815697. 1
53622815698. 2
53622815699. 3
53622815700. 4

Question Number : 100 Question Id : 5362284029 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T HgT o A % 2 FIA A AT R ST =ha

(1) RIS (2) WsTHd

(3) Tomma (4) TagEA
Options :

53622815697. 1
53622815698. 2
53622815699. 3
53622815700. 4

Question Number : 101 Question Id : 5362284030 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sitting equipoised with a straight body. bending both knees, place one ankle midway

between the genitals and anus and placing another ankle above the first one 1s known as

(1) Padmasana (2) BSukhasana
(3) Swastikasana (4) Siddhasana
Options :

53622815701. 1
53622815702. 2
53622815703. 3
53622815704. 4

Question Number : 101 Question Id : 5362284030 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
2T gl 1 RIS, TH TS ST U TR % 65 Ty vd gadt vl i vaell udl W g, e el |

IR 1 HieT TEH =i 290 el 7

1 2) =EE
(3)  wAfEEEA (4) THgEA
Options :

53622815701. 1
53622815702. 2
53622815703. 3
53622815704. 4

Question Number : 102 Question Id : 5362284031 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the stage of Manonmamni”, the prana moves through

(1) Ida Nadi
(2) Pingala Nadi
(3) Sushumna Nadi

(4) Ida and sushumna Nadi

Options :

53622815705. 1
53622815706. 2
53622815707. 3
53622815708. 4

Question Number : 102 Question Id : 5362284031 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oL o TRt |, wor R TS | e 2 7
() z=TATE
(2) farre TSt
(3)  =EETAED

(4) I U LT ATE



Options :

53622815705. 1
53622815706. 2
53622815707. 3
53622815708. 4

Question Number : 103 Question Id : 5362284032 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 15 the width of the cloth used 1n vastra dhoutl according to svatmarama?

(1) one 'angula’
(2) two 'angula’
(3) three 'angula’

(4) four 'angula’

Options :

53622815709. 1
53622815710. 2
53622815711. 3
53622815712. 4

Question Number : 103 Question Id : 5362284032 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT o AEN, S § WS i =GrEE 5= vl 27

(1) ww e
(2 1
(3)  AF I

(4 =
Options :
53622815709. 1
53622815710. 2
53622815711.3
53622815712. 4

Question Number : 104 Question Id : 5362284033 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The kleshas which are produced by avidya according to yoga sutras are

(a) Asmita

(b) dwesha

(c) Raga Alankara
(d) Ahankara

(e) EKrodha

Choose the correct answer from the options given below:

(1)  (a), (d). (e) only (2) (a). (b). (c) only
(3) (a). (c). (d) only (4)  (b), (d). (e) only
Options :

53622815713. 1
53622815714. 2
53622815715.3
53622815716. 4

Question Number : 104 Question Id : 5362284033 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘H-II‘H-j:'J _-ﬁ -’j—leH T:!-Irl—'ivi-:ll :El' 3094 _F"IT-T o ':-':l '?Fc-;lﬁl ?"—"

(a) s
® =

(c) EREl]

(d) ¥R
(e) =g

f1=1 fau o fomedl § @ wE I 9T

(1)  F39 (a), (), (e) (2) =4 (a), (b). (c)
(3)  F94 (a). (©. (d) (4) == (b). (). (e)

Options :

53622815713. 1
53622815714.2
53622815715.3
53622815716. 4

Question Number : 105 Question Id : 5362284034 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which are the following practices belongs to shatsampatti?

(a) Vairagva
(b) Shama
{c) Dama

(d) Samadhana

(e) Mumuksutva

Choose the most approprate answer from the options given below:

(1) (a). (b). (c) only (2)  (a). (¢). (d) only
(3) (b). (c). (d) only (4) (d). (e). (a) only
Options :

53622815717. 1
53622815718. 2
53622815719. 3
53622815720. 4

Question Number : 105 Question Id : 5362284034 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frfafaa 9 @ %@ 9 ey weamfy | dafaq 22

(a) Sy

(b) o

ic) o

(d) HATHTE

(e) qqared

Fr9 fog m fawedl © 8 w58 39 g

(1) == (a). (b), (©) (2) I (a). (c). (d)

(3)  =FFd (b). (o). (d) (4) & (d), (e), (@)
Options :

53622815717. 1
53622815718. 2
53622815719.3
53622815720. 4

Question Number : 106 Question Id : 5362284035 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Sr1 Krishna, Yoga can remove sorrows by following the combination from
among those options given below:

(a) proper sleep

(b) proper work

(c) proper diet

(d) proper education

(e proper recreation

Choose the correct answer from the options given below:

(1) (a). (b). (c). (d) only (2) (a). (b). (d). (e) only
(3) (a). (b). (c). (e) only (4) (a). (b). (d). (¢) only
Options :

53622815721. 1
53622815722.2
53622815723. 3
53622815724. 4

Question Number : 106 Question Id : 5362284035 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faferfias & = w1 oo = rgEw, =0 F wEE W T AT T E

(a) TF M3

H

(b)  TF FH
(©) I ARE

(d) T T

() I famr

v_-ﬁ% 'IFT;';I TF;J fEI‘ '?a'.'“'l-f 12[ I'[ 1?{7”-:":[ ESatl "_'EE:i' L

(1) = (a). M). (0. (@) (2) Fa (a). (b). (). (e)
(3)  Fa (a). (b). (0). (e) (4) = (a). (b). (). (c)

Options :

53622815721. 1
53622815722.2
53622815723.3
53622815724. 4

Question Number : 107 Question Id : 5362284036 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Eshavasyopnishad. devotion to which of the following leads one to darkness?
(a) Vidya Only

(b) Awidya only

(c) Both Vidva and Avidya

(d) Neither Vidya nor Avidya

Choose the correct answer from the options given below:

(1) (a) and (b) only (2) (a) and (c) only
(3) {a) and (d) only {(4) (b) and (d) only
Options :

53622815725 1
53622815726. 2
53622815727. 3
53622815728. 4

Question Number : 107 Question Id : 5362284036 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SIERETTATE F AGEN el SUHAT 8 Wies AvgE | o e 2 7
(a) = fa=m H

(b) O A==

(¢)  Ta=m %1 wafe=n =1 =i

(d) 7 wAfEEn @9k T fFEn

i e e g e

(1) 3 (a) 1 (b) (2) Fa () #E (¢)

(3)  F9 (a) 3R (d) (4) A (b) 3 (d)

Options :

53622815725. 1
53622815726. 2
53622815727.3
53622815728. 4

Question Number : 108 Question Id : 5362284037 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Trishikhibrahman Upanishad prana vayu in human body 1s mainly located at

{a) Big Toes

(b) Knees

(c) Thighs

(d) Navel Region

(e) Heart

Choose the correct answer from the options given below:

(1) (a). (b) and (c) only (2) (a). (c) and (d) only
(3) (a). (d) and (e) only (4) (b), (c) and (d) only
Options :

53622815729. 1
53622815730. 2
53622815731. 3
53622815732. 4

Question Number : 108 Question Id : 5362284037 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FfEsTam 399E + SHER 999 IR TEE F TaH e 5 2
(a) T A

b) T

(c) ERIE

(d)  ATH "ATEE

(e) &l

Hr= T w1 Tt 9 A TR I 90

(1) == (a), (b) A (c) (2) Fa (a). (c) 3 (d)

(3)  FF (a). (d) FE () (4) Faa (b). (c) 3T (d)

Options :

53622815729. 1
53622815730. 2
53622815731.3
53622815732. 4

Question Number : 109 Question Id : 5362284038 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Shwetashwatar Upanishad. what

Panchamahabhoota?

(a) Healthy state

(b) Youthful state

(c) Non occurrence of untimely demise
(d) Revealation of moon

(e) Appearance of sun

1s possible by “Samyak Utthan™ of

Choose the correct answer from the options given below:

(1)

(3)

Options :
53622815
53622815
53622815
53622815

(a). (b). and (c) only (2)

(a), (b) and (e) only (4)

733. 1
734.2
735.3
736. 4

(a). (b) and (d) only

(b). (d) and (e) only

Question Number : 109 Question Id : 5362284038 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AR IR F ST THHETE F TIE 30U ¥ 6 B
(@) T TEA
(b) TW‘FMWEJT

(c) T g 7 EA

(d) 2T T TR

(e)  F 1 I

Fr= o @ fawew 9 7 wE I g9
(1) Fa (a), (b). ¥ (c) (2)  Fa (a). (b) 3 (d)
(3) A (a), (b) #T (e) @) Fa (b). (d) 37 ()

Options :

53622815733. 1
53622815734.2
53622815735.3
53622815736. 4

Question Number : 110 Question Id : 5362284039 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Trishikhibrahman Upanishad, Yamas are
(a) Kindness

(b) Forgiveness

(c) Patience

(d) Donation

(e) Vrata

Choose the correct answer from the options given below:

(1) (a), (b), and (c) only (2) (a).(b) and (d) only
(3) (b). (c) and (d) only (4) (c). (d) and (e) only
Options :

53622815737. 1
53622815738. 2
53622815739. 3
53622815740. 4

Question Number : 110 Question Id : 5362284039 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frfafaa 7 5 Hfafesme sufeg F 978w 98 2

(@) =4
(b) &
{e) e
(d) L]
(e) =

S T2 T et § @ wE e =i

(1) =3 (a). (b) W (c) (2) F= (a). (b) 7 (d)
(3) A= (b). () 3T () (4) =7 (c). (d) 37 (e)
Options :

53622815737. 1
53622815738. 2
53622815739. 3
53622815740. 4

Question Number : 111 Question Id : 5362284040 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Vashishtha Samhita which grahas move with vayu tatva and agni tatva?
(a) Guru and Rahu

(b) Shukra and Mangal

(e) Budha and Rawn1

(d) Chandra and Sham

(e) Shani and Budha

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (b)and (c) only
(3) {a) and (d) only (4) (d)and (e) only
Options :

53622815741. 1
53622815742. 2
53622815743. 3
53622815744. 4

Question Number : 111 Question Id : 5362284040 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ATTE FiedT = HTEE T1g v U A % WY HH H qE "eid 7 7
(a) & TR
(b)  IF AW AU
(¢ Tg HAR IS
(d)y = 3T

(e) T A7 98

A Tou T el B ® AR I g
(1) =99 (a) 37 (b) (2) == (b) 3T (c)
(3) = (a) AN (d) (4) F= (d) ¥ (e)

Options :

53622815741. 1
53622815742.2
53622815743. 3
53622815744. 4

Question Number : 112 Question Id : 5362284041 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Voluntary muscles are found 1n

(a) Tongue

(b) Beginning of Oesophagus

(c) Posterior part of Oesophagus
(d) Pharynx

(e) Dermis of skin

Choose the correct answer from the options given below :

(1) (a), (c) and (d) only (2) (b). (d) and (e) only
(3) (a). (c) and (e) only (4) (a). (b) and (d) only
Options :

53622815745 1
53622815746. 2
53622815747. 3
53622815748. 4

Question Number : 112 Question Id : 5362284041 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



uf=eF Ut orlt e A
(a) W H
(b)  THMETH F URIHE W o

(¢)  THIETHE F urvd |

() T F shmd

e fau o famedt § @ A I 9
B SEeEQ I @ F= (b), (d) (o)
G O ES @ A (), (b) i (@)

Options :

53622815745. 1
53622815746. 2
53622815747. 3
53622815748. 4

Question Number : 113 Question Id : 5362284042 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Different groups of neurons of respiratory centre are located in
(a) Pons varoln

(b) Medulla oblongata

(c) Cerebellum

(d) Mid brain

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) {c) and (d) only
(3) (a) and (c) only (4) (b) and (d) only
Options :

53622815749. 1
53622815750. 2
53622815751.3
53622815752. 4

Question Number : 113 Question Id : 5362284042 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



THEA g H A A9 % s TE § e e E
() O FEE g
(b) T g AT |

(c) e T

(d) T=I-ufEeE o

e o o foeet B % 7 T P
(1) =9 (a) 577 (b) (2) Fa (c) 3R (d)
(3) T (a) 3 (c) (4) =a (b) AR (d)

Options :

53622815749. 1
53622815750. 2
53622815751. 3
53622815752. 4

Question Number : 114 Question Id : 5362284043 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following food items contain high percentage of poly unsaturated fatty acids?

(a) Mustard o1l

() Fish o1l

(c) Ghee

(d) Butter

(e) Sesame o1l

Choose the correct answer from the options given below :

(1) (a). (b) and (c) only (2) (b). (c) and (d) only
(3) {c), (d) and (e) only (4) (a). (b) and (e) only
Options :

53622815753 1
53622815754. 2
53622815755. 3
53622815756. 4

Question Number : 114 Question Id : 5362284043 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FeAfetliga 9 © 7 @ 1219 | A SEgH 99 S 9 A0 A 2 27

{a) Tl 9

(b) =B W A

(c) Hi
(d) HFTA
(e) = =1 7

Hr= fr T faet 7 @ maitas seEE I g9

(1) =3 (a), (b) 317 (¢) (2) == (b), (¢) #T (d)
(3) A (). (d) 7 (e) (4) Fa (a). (b) #7 (e)

Options :

53622815753. 1
53622815754.2
53622815755.3
53622815756. 4

Question Number : 115 Question Id : 5362284044 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Food predominant in which Rasas 1s beneficial for persons of pittaja prakrti and kaphaja

prakriti both?

(a) Katu

(b) Kashaya

{c) Madhura

(d) Tikta

Choose the correct answer from the options given below :

(1) (a) and (c) only (2) (a)and (d) only
(3) (b) and (d) only (4) (c) and (d) only
Options :

53622815757. 1
53622815758. 2
53622815759. 3
53622815760. 4

Question Number : 115 Question Id : 5362284044 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o @1 it g I AER UEE U U9 S UF, 2 TRE % AT & o STEuE B 7

(a) wZ
(b) EXiE|
(c) qg
(dy T

I R e g

(1)  =ad (a) 397 (c) (2) () 37 (d)
(3) A= (b) @A (d) (4) FF () 3 ()

Options :

53622815757. 1
53622815758. 2
53622815759.3
53622815760. 4

Question Number : 116 Question Id : 5362284045 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Accaording to Hatha Pradeepika. the trataka kriva 1= beneficial in
(a) Tandra

(b) Netra Roga

(c) Pratishyaya

(d) Vataja Roga

Choose the correct answer from the options given below :

(1) (a) and (b) only (2) (b)and (c) only
(3) (b) and (d) only (4) (c)and (d) only
Options :

53622815761. 1
53622815762. 2
53622815763. 3
53622815764. 4

Question Number : 116 Question Id : 5362284045 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(a) d=H
() FAFTTTH
(c) BIGERIR R

(d) FmATTH

N sl @) = (b) # ()
@) F B) F @ (4) a7 (o) 3T ()

Options :

53622815761. 1
53622815762. 2
53622815763. 3
53622815764. 4

Question Number : 117 Question Id : 5362284046 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the direct cause of angina?

(a)  Aging
(b) Modern life style
(c) Irregular sleeping habits

(d) An inner unrest

Choose the correct answer from the options given below :

(1) (a). (b). (c) only (2) (a). (b), (d) only
(3) (a). (c). (d) only (4) (). (c). (d) only
Options :

53622815765. 1
53622815766. 2
53622815767. 3
53622815768. 4

Question Number : 117 Question Id : 5362284046 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TEATEAT W UEE R0 T R
(a) FH F FE AT

(b) gl SfEa e
(c) g =1 i = =

(d) STEwT S

Hr= f23 = faweal 9 © Haitos S5 I 9

(1) a9 (a), (), (©) (2) 9 (a), (b). (d)

(3)  F99 (a). (0). (d) (4) F=7 ), (c). (d)

Options :

53622815765. 1
53622815766. 2
53622815767. 3
53622815768. 4

Question Number : 118 Question Id : 5362284047 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which

are the following voglc practices

Hathapradeepika and Gheranda samhita?

(a)
(b)
(c)

(d)

Ujjal
Vastradhauti
Mayurasana

Mahamudra

overcome ‘Kaasa'

Choose the correct answer from the options given below :

(1)
(3)

Options :

(a). (b). (d) only (2)

(d). (c). (a) only (4)

53622815769. 1
53622815770. 2
53622815771.3
53622815772. 4

(a), (b). (c) only

(b). (c). (d) only

{cough)

according to

Question Number : 118 Question Id : 5362284047 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



73 TEIfTH U TS Hiedl & SER, HefatE § 5§ 5 Jmmes @ e (i) {oae 2

(a) FeArE]
(b)  @= i
(c) A
(d)  H=mHaT

Hr= f2u v fameTl 4 | HE I g

()  F= (). (b). (d) (2) =9 (a). (b), (©)
(3)  F=E (d). (0). (a) (4) = (b). (c). (d)

Options :

53622815769. 1
53622815770. 2
53622815771.3
53622815772. 4

Question Number : 119 Question Id : 5362284048 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which are the following qualities are needed for an individual to become a ‘Siddha’ by

practising yoga more than a year?
(a)  Tyagi

{(b) Tapasvi

(c) Mitahari

(d) Bramhacanri

(e) Yoga Parayvana

Choose the correct answer from the options given below :

(1) (a). (c). (d), (e) only (2) (a). (b). (), (d) only
(3) {(a). (d), (e). (b) only (4) (b). (c). (d). (e) only
Options :

53622815773. 1
53622815774.2
53622815775. 3
53622815776. 4

Question Number : 119 Question Id : 5362284048 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ot =t = fom Fafefaa 9 @ e o i smaweean 2, 59 = o6 9d o sies Jmes s g
(a) =0
(b) Al
(c) AR
(d) FEET

HITETE

(e)

Hr= fo T e 4 O =R I 9T

1)  F=9 (a), (o), (d), (e) (2) == (a). ®). (©). (d)
(3)  Fa (a). (). (). (b) 4) === (b). (c). (d). (&)

Options :

53622815773. 1
53622815774.2
53622815775.3
53622815776. 4

Question Number : 120 Question Id : 5362284049 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last T wath List IT

ListI List IT
(a) Dharma (1) Prakrtilaya
(b) Jnana (1) Awighata
(c) Variragva (1) Urdhwagamana
(d) Aishwarya (iv) Apavarga

Choose the correct answer from the options given below :

(1) (a)-(111), (b)-(v). (e)-(1). (d)-(1)
(2) (a)-(v). (b)-(1). (e)-(11). (d)-(111)
(3 (a)-0. (b)-A). (e)-(n). (d)-1v)
(4)  (a)-). (b)-(11), (e)-(v), (d)-()

Options :

53622815777. 1
53622815778. 2
53622815779. 3
53622815780. 4

Question Number : 120 Question Id : 5362284049 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I =1 g=t 11 & gafed Hifaw

= 1 T 11
(@) oA G wHfeE
(b) M (1)  FAeEa
(c) w4 (iil) FETE
(d) Tz (iv) 3o

Hr= fau i fereni | | =F == 90

(1) (a)-(111). (b)-(1v). (¢)-(1). (d)-(11)
(2) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(3) (a)-(1). (b)-(11). (¢)-(111), (d)-(1v)

(4) (a)-(11). (b)-(11), (¢)-(1v), (d)-(1)

Options :

53622815777. 1
53622815778. 2
53622815779. 3
53622815780. 4

Question Number : 121 Question Id : 5362284050 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last T with Last IT

ListI List IT
(a) The concept of Pranarayi (1)  Aitrey Upnishad
(b) The concept of Brahma (1) Taitriye Upmshad
{c) The concept of Panchakosha (m1) Ishavasyopnishad
(d) The concept of Karmanishtha (iv) Prashnopnishad

Choose the correct answer from the options given below :

(1) (a)-(1v), (b)-(1). (e)-(11), (d)-(111)
(2)  (2)-v). (b)-(D). (e)-(i11). (d)-(1)
(3)  (a)-(1). (b)-(11), (e)-(1i1), (d)-(1v)
4  (a)-), (b)-G1). (c)-(v). (d)-(1)

Options :

53622815781. 1
53622815782. 2
53622815783. 3
53622815784. 4

Question Number : 121 Question Id : 5362284050 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I gt 11 2 gefed it

el T 11
(a) TR i FATERON (i) UFE I
(b) F& I FFUWOM (i) dFE TuiTE
(¢)  T=IHRIIT R SAEETO (i) SITEEEEETE
(d) e Fi sEEEn (iv) T
= o T A 1 T8 e THT

(1) (a)-(v). (b)-(A). (e)-(11), (d)-(11d)
(2) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(3 (a)-0). (b)-(1), (¢)-Qu), (d)-(Gv)
(4) (a)-(11). (b)-(111), (¢)-(1v). (d)-(1)

Options :

53622815781. 1

53622815782. 2

53622815783. 3
53622815784. 4

Question Number : 122 Question Id : 5362284051 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) Ashtang voga (1) Shwetashwatar Upmshad
(b) Shadang voga (1) Yogra) Upnishad
(¢) Hatha yoga () Trshikhibrahman Upnishad
(d) Dhyan yoga (iv) Dhyanbindu Upnishad

Choose the correct answer from the options given below :

(1)  (a)-(ii). (b)-Gid), (c)-Av). (d)-()
(2)  (a)-(a1). (b)-(iv). (e)-(11). (d)-(3)
(3) (a)-(1v). (b)-(111). (c)-(11), (d)-(1)

(4) (a)-(1). (b)-(11). (e)-(11), (d)-(1v)

Options :

53622815785. 1
53622815786. 2
53622815787. 3
53622815788. 4

Question Number : 122 Question Id : 5362284051 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I %1 gt 11 9 gafaq it

=l I T 11
(a) HAEFTEM (i)  ZErEe suhE
(b)  T=T A (i)  =FETH IR
(c) 7= (iii) Frfarfemmm svfms
(d) R (iv) e I9HTE

H= f3u m faet ° ° w3 g

(1) (a)-(i1). (b)-(1ii), ()-(iv). (d)-(1)
(2)  (a)-(ii). (b)-(1v). (e)-(i1). (d)-(1)
(3) (a)-(1v). (b)-(u). (c)-(11), (d)-(1)
(4) (2)-(1). (b)-(11), (c)-(11), (d)-(1v)

Options :

53622815785. 1
53622815786. 2
53622815787. 3
53622815788. 4

Question Number : 123 Question Id : 5362284052 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last T with List IT

List I List IT

(a) Tatparam Purushakhyvatergun (11 Sadhanapad
valtrinnyam

(b) Vitarkabadhana pratipaksha (1) Samadhipad
bhawanam

{c} Pratyvavasva Parchittajnanam () Kaivalyapad

(d) EKarmashukla Krishnam (1v) Vibhutipad

Yoginstrividhamitresham

Choose the correct answer from the options given below :

(1) (a)-Gi). (b)-(). (c)-Av). (d)-(i11)
(2)  (@-@. (b)-(). (c)-(11), (d)-(v)
(3) (a)-(1v). (b)-(i11), (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(11). (c)-(1). (d)-(1v )

Options :

53622815789. 1
53622815790. 2
53622815791. 3
53622815792. 4

Question Number : 123 Question Id : 5362284052 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



S % FEn T 1w e 1 2 gifem Hif

A1 FH 1L
(a) T TETEETTIEGEE (1) =TI
(b) faaehama aiauaraEg (i) =Y 9E
(c) T WY (iii) TFETIE
(d)  FHRIFATEDT AT A T, (iv) fasgfa o

= fou o fompei 9 & @A T g

(1) (a)-(i1). (b)-(1). (e)-(1v). (d)-(iil)
2)  (a)-Q). (b)-G1). (e)-(1), (d)-(v)
(3) (a)-(1v). (b)-(i11). (e)-(11). (d)-(1)
4 (@-w. (b)-w). (e)-Q), (d)-av)

Options :

53622815789. 1
53622815790. 2
53622815791. 3
53622815792. 4

Question Number : 124 Question Id : 5362284053 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT according to Siddha Siddhanta Paddhati

List I List IT
{Base) (Position)
(a) Padagunshtham (11 Fifteenth
(b) Naabhi (11) Tenth
(c) Talvadhar (1) First
(d) Bhrumadhyadhar (1v) Sixth
(e) Lalatadhar (v) Twelfth

Choose the correct answer from the options given below :

(1) (a)-). (b)-(i11). (c)-(1i). (d)-(1v). (e)-(v)
(2) (a)-(1), (b)-(1), (c)-(v). (d)-(i11). (e)-(iv )
(3) (a)-(v). (b)-(11). (c)-(v), (d)-(11). (e)-(1)
(4) (a)-(an). (b)-(v). (c)-(11). (d)-(v). (e)-(1)

Options :

53622815793. 1
53622815794. 2
53622815795. 3
53622815796. 4

Question Number : 124 Question Id : 5362284053 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fag fagra vzfa F sgaw 5=t 1= gt I 8 gt Fifaw

List I List IT
(74T (FAEE)
(a) TIETIEH (1) TFEET
(b) T4 (i) =7
(c) TTITER (1) T¥H
(d) YrEETER (iv) wEY
(e) TAATIIER (v) @&

(1)  (a)-(). (b)-(111). (c)-(11). (d)-(iv). (e)-(V)
(2) (a)-(11). (b)-(2). (e)-(v). (d)-(111). (e)-(1v )
(3)  (a)-(v). (b)-(iil). (c)-(v), (d)-(11). (e)-(1)
(4)  (a)-i). (b)-Av). (c)-(1), (d)-(v). (e)-(1)

Options :

53622815793. 1
53622815794. 2
53622815795. 3
53622815796. 4

Question Number : 125 Question Id : 5362284054 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Aakash (1) Two Gunas
(b) Vawvu (1) Three Gunas
(C) Tea (1) One Gunas
(dy Jala (iv) Four Gunas
{e) Prithawn {(v) Five Gunas

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11), (¢)-(av), (d)-Q). (e)-(v)
(2)  (a)-(). (b)-(iv). ()-(ii1). (d)-(11). (e)-(v)
(3)  (a)-(id). (b)-). (e)-(D). (d)-(1v). (e)-(v)
4 (a)-(v). (b)-(11). (c)-(iid). (d)-(1). (e)-(v)

Options :

53622815797. 1
53622815798. 2
53622815799. 3
53622815800. 4

Question Number : 125 Question Id : 5362284054 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fora wfean & sgAR It I ®1 g 11 @ gafaq Hifw

gl T = 11
(a) ATETT @ aFTm
(b) = (i) =TI
(©) (i) T T
(d) == (iv) =17
(e) gl (v) W=

= 2 fomet 9 B wF 5 g

D) (a)-Gi). b)-(i). (©)-Gv). @-{). (e)-(v)
(2) (a)-(1). (b)-(iv). (e)-(111), (d)-(11). (e)-(V)
(3 (@), 0)-@). (-G, (d)-av). (e)-(v)
(4) (a)-(v). (b)-(11). (c)-(111), (d)-(1), (e)-(V)

Options :

53622815797. 1
53622815798. 2
53622815799. 3
53622815800. 4

Question Number : 126 Question Id : 5362284055 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) Prasupta, Tanu. Vichchinna, Udar (1) Healthy life style
(b) Daurmanasya (1) Stages of kleshas
(¢) Maitri and Karuna (1) Vikshepasahbhuva
(d}) Suddha aahar and vihar (iv) Positive approach

Choose the correct answer from the options given below :

(1) (2)-@), (b)-G1), (¢)-av), (d)-Q)
(2)  (@)-0. (b)-(). (c)-(1), (d)-(v)
(3)  (a)-Gv). (b)-(ii), (c)-(1), (d)-(1)
4)  (a)-(i1). (b)-(i1). (¢)-(). (d)-(v)

Options :

53622815801. 1
53622815802. 2
53622815803. 3
53622815804. 4

Question Number : 126 Question Id : 5362284055 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7=t 1 gt 11 8 gefes $irae

el o 11
S L ) (i) =9 = e
(b) == (i) e i arEE
(c) Wi va =wom i) i mm
(d) g AER T FER (iv) TFTIEEE g

fr= 53 ™ T 8 9w I g

(1) (a)-(i). (b)-(iid), (©)-Gv), (d)-()
(@) (@)-({). (b)-(i). (¢)-(ii). (d)-(iv)
(3) (a)-(v). (b)-(11). (c)-(11), (d)-(1)

(4) (a)-(111), (b)-(11), (c)-(1). (d)-(1v)

Options :

53622815801. 1
53622815802. 2
53622815803. 3
53622815804. 4

Question Number : 127 Question Id : 5362284056 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mateh List I wath Last IT

List I List IT
(a) Backache (1) Survanamoskar
(b) Diabetes mellitus (1) Bhujangasana
(c) Dysmenorrhea (1) Ardhamatryvendrasana
(d) Obesity (iv) Pavanamuktasana

Choose the correct answer from the options given below :

(1) (a)-(id), (b)-Q). (e)-(iv). (d)-(i1)
(2)  (a)-(). b)-Gv), (c)-(). (d)-(11)
(3)  (a)-(ii). (b)-(Gi), (0)-(iv). (d)-(1)
(4) (a)-(11). (b)-(iv). (c)-(111), (d)-(1)

Options :

53622815805. 1
53622815806. 2
53622815807. 3
53622815808. 4

Question Number : 127 Question Id : 5362284056 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F=ft I =1 gt 11 9 gafea Sifae

T 1 o 11
(a) Ti=Es (1) HITEERT
(b) SHEEEH HivZE (i) g=mEE
(¢) HETd (iil) HAZHHZEA
(d) = (iv) "EAgwEA

= fZm faFeql § 1 o8 = 1'_1.P:|' T

D (@)-0m). (b)-Q). (©)-Gv). (d)-(1)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)
(3) (2. (b)-(D). (e)-(av). (d)-(1)
(4) (a)-(i1). (b)-(v). (c)-(il). (d)-(1)

Options :

53622815805. 1
53622815806. 2
53622815807. 3
53622815808. 4

Question Number : 128 Question Id : 5362284057 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) Yoga is a system of therapy (1) Rechak
(b) Controlled exhalation (1) Dhyan
{¢) Control over fluctuations of mind (1) Misleading attitudes
(d) Nature of yogic practices (iv) Psychosomatic

Choose the correct answer from the options given below :

(1) (a)-Q). (b)-(11), (c)-(i1), (d)-(v)
(2)  (a)-(v). (b)-(id). (¢)-(1), (d)-(1)
(3) (-G, b)-(iid), (e)-(iv), (d)-{)
4 (a)-Gid). (b)-@). (e)-(id). (d)-(iv)

Options :

53622815809. 1
53622815810. 2
53622815811. 3
53622815812. 4

Question Number : 128 Question Id : 5362284057 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I %1 gt 11 ¥ gafeaa i

1| = 11
(a) @M Tafee ugfa 2 (i) ==
(b) FEFm M (i) =
(c) ¥ =1 aferat =1 fram (iti) wTEF g
(d) T TS T EEY (iv) HATHITaH

= T2 T faweTl § 9 HA I g

(1) (a)-(1). (b)-(11), (c)-(11). (d)-(iv)
(2) (a)-(1v). (b)-(111), (c)-(11). (d)-(1)
(3)  (a)-(i). (b)-(iid). (0)-(v), (d)-(3)
(4) (a)-(111). (b)-(1). (¢)-(12). (d)-(1v)

Options :

53622815809. 1
53622815810. 2
53622815811. 3
53622815812. 4

Question Number : 129 Question Id : 5362284058 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) Asana (1) Suryabhudi
(b) DMudra (1) Kapalabhati
(c) Pranayama (111) Setubandha
(d) Eriya (1v) Viparitakarani

Choose the correct answer from the options given below :

(1) (a)-Gid). (b)-(v). (¢)-(1). (d)-(ii)
(2) (a)-(1). (b)-(11). (e)-(1v), (d)-(11)
(3) (a)-(11), (b)-(1v), (e)-(1). (d)-(111)
(4) (a)-(1v). (b)-(1). (c)-(11), (d)-(111)

Options :

53622815813. 1
53622815814.2
53622815815.3
53622815816. 4

Question Number : 129 Question Id : 5362284058 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ﬁIWﬁIIﬁmﬁﬁU

o 1 o= 11
(a) 3T (1) FEEE
(b) HaT (i) A
(¢) T (i) =aFY
(d) T (iv) fawirase

= f2u U oot | | wE I "

(1 (a-au). (b)-0v). (e)-1). (d)-(1)
(2)  (a)-(). (b)-(id). (¢)-(iv), (d)-(ii)
(3 (a-Gd). ®)-(v). (¢)-(), (d)-(iid)
(@ @-Gv). (b)-@). (©)-(). (d)-(iii)

Options :

53622815813. 1
53622815814. 2
53622815815. 3
53622815816. 4

Question Number : 130 Question Id : 5362284059 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following as per Bhagavada Gita :

(a) Purushottam yoga

(b) Devasur — Sampadwibhag voga
(c) Gunatraya vibhaga voga

(d) Shraddhatrayva vibhaga yvoga

(e) Moksha sanyas yoga

Choose the correct answer from the options given below :

(1) (a). (). (c). (d). (e) (2)  (b). (). (d). (a). (e)
(3) (c). (b). (a). (), (d) 4)  (c). (a). (b). (d). (e)
Options :

53622815817. 1
53622815818. 2
53622815819. 3
53622815820. 4

Question Number : 130 Question Id : 5362284059 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



PEAT % FAGEAN FH 99150

()  TEEEH T
(b)  ZATET HETEEYE IM
(€ T faum am

(d)  agE= faum am

(e)  HIEH=IHE TN

3 i T et A A T I g

(1) (a), (b). (). (d). (e) (2)  (b). (c). (d). (a). (e)

(3) (o) (b).(a). (e). (d) (4)  (c). (a). (b). (d). (e}
Options :

53622815817. 1
53622815818. 2
53622815819. 3
53622815820. 4

Question Number : 131 Question Id : 5362284060 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Organize according to merits

(a) Raja voga
(b) Mantra yoga
(c) Laya voga

(d) Hatha voga

Choose the correct answer from the options given below :

(1) (a). (). (d), (b) (2) (). (b). (d). (a)
(3) (a). (d). (c). (b) {(4) (). (c). (d). (a)
Options :

53622815821. 1
53622815822.2
53622815823.3
53622815824. 4

Question Number : 131 Question Id : 5362284060 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(a) T T

(b)  FET
(c) Eee|
(d) =4

*= 23 8 o 8 @ w3 g

(1) (a). (c). (d), (b) (2) (). (b). (d). (a)
(3) (a). (d). (c). (b) 4)  (b). (c). (d). (a)
Options :

53622815821. 1
53622815822.2
53622815823. 3
53622815824. 4

Question Number : 132 Question Id : 5362284061 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to the percentage of fat presentage in following dry fruits, arrange them in
decreasing order

(a) almond

(b) sroundnut

{c) walnut

(d) cashewnut

Choose the correct answer from the options given below :

(1) (b). (e). (a), (d) (2) (a). (d). (c). (b)
(3) (a). (c). (d). (b) (4)  (c). (d). (b). (a)
Options :

53622815825. 1
53622815826. 2
53622815827. 3
53622815828. 4

Question Number : 132 Question Id : 5362284061 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fereAfeifiga 5 | Iufesa =a 1 Tiae 960 * SFEE 36 020 9 9 SHaied

(a)  =EH

(b)  FTE

(c) G

(d) EQE!

e foit 7 faweal 4 9 w91 3 g9f

(1) (b). (c). (a). (d) (2) (a). (d). (0. (b)

(3) (a). (c). (d). (b) (4) (c). (d). (b). (a)
Options :

53622815825. 1
53622815826. 2
53622815827. 3
53622815828. 4

Question Number : 133 Question Id : 5362284062 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following vogic practices in proper sequence according to Gheranda Samhita

(a)
(b)
(c)
(d)

(e)

Asana
Pranayvama
Tatvajnana
Nwvasa

Nadi shuddhi

Choose the most appropriate answer from the options given below :

(1)

(3)

Options :

(a). (b). (d). (e). (c) (2)  (b). (c). (a), (e). (d)

(a). (d). (e). (b). (c) (4) (c). (a). (e). (b). (d)

53622815829. 1
53622815830. 2
53622815831.3
53622815832. 4

Question Number : 133 Question Id : 5362284062 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F=ferfma armerEt =+ 9t giza # EE, g #9 9 SEiey i)

(a)
(b)

ATET
AT
(c) dodzir
= 1]

(d)

(e) ZrEIg

Hr foit 7 faweat 4 9 FETaE S9E I 9T

1 @, )@ (. 2 (®). ©. @) @), @

(3) (a). (d). (e). (b). (c) (4) (e). (a). (e). (b). (d)
Options :

53622815829. 1
53622815830. 2
53622815831. 3
53622815832. 4

Question Number : 134 Question Id : 5362284063 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following mudras in sequential order according to practical training

{a) Mulabandha
(b) Uddivanabandha
{c) Jalandharabandha

(d} Mahabandha

Choose the correct answer from the options given below :

(1) (b). (c). (d), (a) (2) (a). (b). (d). ()
(3) (d). (b). (a). (c) (4) (a), (b). (c). (d)
Options :

53622815833. 1
53622815834. 2
53622815835. 3
53622815836. 4

Question Number : 134 Question Id : 5362284063 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feAferiias gzl =1 39 T A % sEn, FEEEE St i

(a)  HFEH

Hr= fo7 T fawew 9 7 wE T g

(1) (b). (c). (d). (a) (2) (a). (b). (d), (c)
(3) (d). (b). (a). (c) (4)  (a). (b). (c). (d)
Options :

53622815833. 1
53622815834. 2
53622815835. 3
53622815836. 4

Question Number : 135 Question Id : 5362284064 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as

Beason (R)

Assertion (A):  There 1s a special treatment to rheumatoid arthritis with purificatory
methods (Kryas)

Reason (R) : Purificatory methods remove the root cause of the dizease

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1 Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

Options :

53622815837. 1
53622815838. 2
53622815839. 3
53622815840. 4

Question Number : 135 Question Id : 5362284064 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e 77 FA T2 T E, Y ° F w1 afgweE (A) AR gmm aE (R)

ATTFIA (A) : THZEE ATEEE F A T su=n gl 9 aigee i e = 2|
% (R) w1 o T % et o g Al A

S 51 YA F=d A Feiengd 4 9 g6 39 9T

D (&) 3R ®) T = 2 30 R), (A) F @@ == 2
(2) (&) #R (R) 3 T8 7 74, (R). (A) 1 781 =z 98 2
(3) (A) T 7 v (R) 7= 7

(4) (A) T7d 7 W (R) 971 7

Options :

53622815837. 1
53622815838. 2
53622815839. 3
53622815840. 4

Question Number : 136 Question Id : 5362284065 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as
Rea=zon (R)

Assertion (A): In samadhi. Vibhutis (Siddhis) have been called impediments where as in

vyutthan — awastha these have been called siddhis

Reason (R) : On being called upon by Lokpal devatas. one should neither harbour
‘attachment’ nor a ‘sense of pride’ for in case of doing so. there is likelihood

of the recurrence of some tragic episode.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1= not the correct explanation of (&)
(3) (A) 1= correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

53622815841. 1
53622815842.2
53622815843. 3
53622815844. 4

Question Number : 136 Question Id : 5362284065 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fr 21w o E, T 3w w sfiees (A) 3 gEn 9% (R) 2

AT (A) Ty o faafaen (fafgat) =1 fast sam & 3 =geum saeen 1 fatgat =0 2
o (R) TR SAATAT T ATAIO T OFEH A A1 T ] SR AR A CHAEE EE vE
FH W @A FT T B A

T 5 FYA F T4 ° g 3 7 56 I 96

(1) (A) 3R R) 3 74 2 721 R). (A) F1 =& = 2

@) (A #i (R) I T E L (R). (A) F1wE = w6
(3) (A THE 7, T (R) T B

(4) (A) T 7, W (R) 741 2

Options :

53622815841. 1
53622815842.2
53622815843. 3
53622815844. 4

Question Number : 137 Question Id : 5362284066 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1= labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A):  Tapas (Austerity) 1s a way to attain divinity

Reason (R) : Tapas (Austenity) destroyvs the impurities. perfecting the body, mind and
senses, s0 that the consclousness attains the divinity

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 18 true but (R) 1s not false

(4) {A) 15 false but (R) 1s true [ up Laserlet M6D4 (HP Lase
| §©7 Job sent to the

Options :

53622815845. 1
53622815846. 2
53622815847. 3
53622815848. 4

Question Number : 137 Question Id : 5362284066 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 71w 23w E, T @ v sl (A) #12E0 9% (R) F

AfGFIT (A) A9 =acd i WY T TF T 2
TF (R) : ‘U FEIfgA N OF F MR, T U9 S OO WA WA £ A1 S6 990 #)
TH A

IU 31 FUA F T ° Feanied % ® #9396

(1) (A 3 (R) == =41 & 741 (R). (A) =il Ha1 == 2
(2) (A 3 (R) 3E T8 2, w1 R). (A) F1 9 =awen 77 2
(3) (A=A 2, T (R) o 2

(4) (A) T4 2, W (R) 591 7

Options :

53622815845. 1
53622815846. 2
53622815847. 3
53622815848. 4

Question Number : 138 Question Id : 5362284067 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two Statements :

Statement I: Yoga can give good results in diabetes mellitus by the control of irregular.,

rajoguna predominant food habits along with the avoidance of over eating

and the introduction of proper physical work

Statement IT: With the introduction of medicines and insulin diabetes mellitus can be

In the

treated upto the root cause

light of the above statements, choose the most appropriate answer from the options

given below:

(1)
(2)
(3)

(4)

Options :
53622815
53622815
53622815
53622815

Question

Both Statement I and Statement IT are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect

Statement I 1= incorrect but Statement IT i correct

849.1
850.2
851.3
852.4

Number : 138 Question Id : 5362284067 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



:FI?JETT‘fH]'—E‘-FT-I‘F"

Fo I . TAA S WAl G S AErEl W e A gfed Afas 9o ¥ wee

fe wrdifer 99 % i sefadis afese $i fTafs 0 9 o= afom 2 o 2)

T 11 : ATafy va SHfEA F1 U= N SEEAE Hieled * gol FE i SU=EE R | A 7

I 21 FUA F T2 ° efangd § ¥ waa® 399 I g

(1) = I+ %o 10 2 w4 2
(2) = I 39 %o I T 7
(3) =y [9 2, 9ig A I 7o 2

(4) wuE I7em 7, W wE I TA 7

Options :

53622815849. 1
53622815850. 2
53622815851. 3
53622815852. 4

Question Number : 139 Question Id : 5362284068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A): Slowly — slowly practising asana, pranayvama and shatkrivas can

rejuvanate the muscles effected by bronchial asthma

Reason (R) : Asana. pranayama and satkrivas complement each other to mobilize and

remove the impurities from the body

In the hight of the above statements. choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (4A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 12 not correct but (R) 1= correct

Options :

53622815853. 1
53622815854. 2
53622815855. 3
53622815856. 4

Question Number : 139 Question Id : 5362284068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 21 %y f1 ™ 2, 598 o v =1 sifses (A) SR aE R) 7

TR (A) -, ST, TIET UF T T e H ARae SR § I e e

TF (R) : ATEE, MEW U5 92 A vER # A9igd w F FE F 60 gEEE €9 9 oh-g
1 90 =41 2

TR 3 AT F T2 0 FEfngd § ° g6 39 960

(D) (&) 3R (R) 3A 78 # 791 (R). (A) F1 721 =me=n &
@ (A s ®) A @ E, o R). (A) o = R
(3) (A) 5 7, 7= (R) Tea 2

(4  (A)T=A 7, WA R) TE 7

Options :

53622815853. 1
53622815854. 2
53622815855. 3
53622815856. 4

Question Number : 140 Question Id : 5362284069 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A) : In the practice of agnisara there 1s recurrence of abdominal movements.

Confraction region of abdomen 1s located around the navel

Reasons (R) : Abdominal muscles (particularly of the lower abdomen) can be pushed

back and forth after exhalation Agnisara 1s an exercise assoclated with
‘Shronichchad’ and kapalbhati Vakshada’

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

{2y Both (A) and (R) are correct but (R) 1s not the correct explanation of (4)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1= correct

Options :

53622815857. 1
53622815858. 2
53622815859. 3
53622815860. 4

Question Number : 140 Question Id : 5362284069 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 21 %o T = 2, T 5 uF = safieeE (A) s T aE (R) 7

AH (A) : ATER F EE 8 e T F g 2 2, 39w gw & g F U
e 2
T ®) s afe #1 (fem =9 @ fren 33) O sssand & w e §e e s 2

AR AT0r=0s T FUE9d 99=a2 ¥ Tl 550 2
T 21 YAl ® T2d 1 et qﬁpﬁwwf

(1) (A 3 (R) 3 791 # 70 (R). A) Fi 78 =z 2
@ (&) 3R ®) 3 TH E, T R). (A) F = T 2
(3) (AT, = ®) T 2
(49 (A7 2, WA (R) TE R
Options :
53622815857. 1
53622815858. 2

53622815859. 3
53622815860. 4

Sub-Section Number : 2
Sub-Section Id : 536228159
Question Shuffling Allowed : Yes

Question Id : 5362284070 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

: Yes Group



Read the following paragraph carefully and answer the five questions (Question No. 91 to 95)

The 1mportant aspect of pranavama 1= “Kumbhaka”. It influences the body functions and the
inherent potential in higher levels. External retention of breath 1s known as "Bahya —
kumbhaka' and internal retention 1z known as ‘Antah — Kumbhaka'. These two forms.
performed by the control of the breathe are called ‘Sahita Kumbhaka'. One another form of
kumbhaka occurs spontaneously 1s called "Kevala Kumbhaka™.

In the practice of survabhedi inhalation 1s done through rght nostrl to activate pingala
nadi. and exhalation 1s through left nostrl.

Ujjayi 1s deep breathing with contraction of epiglottis. Seetkari is performed by inspiration
through mouth and teeth. Sheetali 1= done by inspiration through mouth with rolled tongue.
Bhastrika 1s practiced by rapid breathing. Bhramar 1s performed by making a humming
sound with exhalation. Moorcha emphasizes retention to create a feeling of fainting. Plavimi
1s practiced by swallowing air into the stomach.

Many sadhakas feel that, Sahita kumbhaka influences the conscious and subconscious levels
1.e. body. prana. mind and psyche.

Sub questions

Question Number : 141 Question Id : 5362284071 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Inspiration with rolled tongue 1s done in which practice

(1) Plavini (2) Ujpan
(3) Seetkari (4) Sheetali
Options :

53622815861. 1
53622815862. 2
53622815863. 3
53622815864. 4

Question Number : 142 Question Id : 5362284072 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The perfection over Sahita Kumbhaka does not influence

(1) Body (2) Mind
(3) Soul {(4) Prana
Options :

53622815865. 1
53622815866. 2
53622815867. 3
53622815868. 4



Question Number : 143 Question Id : 5362284073 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which practice. deep breathing occurs with contraction of epiglottis

(1) Bhastrika (2) Bhramari
(3) Ujjan (4) Plavini
Options :

53622815869. 1
53622815870. 2
53622815871. 3
53622815872. 4

Question Number : 144 Question Id : 5362284074 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The type of kumbhaka occurs spontaneously 1s called as

(1) Keval Kumbhaka (2) Sahita Kumbhaka
{3) Bahyva Kumbhaka (4) Antah Kumbhaka
Options :

53622815873. 1
53622815874. 2
53622815875. 3
53622815876. 4

Question Number : 145 Question Id : 5362284075 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The forms of Kumbhaka performed by the control of breathe are

(a) Antah Kumbhaka
(b) Bahya Kumbhaka
(c) Sahita KEumbhaka

(d) Eevala Kumbhaka

Choose the most appropriate answer from the options given below:

(1) (a). (b) and (c) only (2)  (b). (c¢) and (d) only

(3) (a). (b) and (d) only (4) (a). (c) and (d) only

Options :

53622815877. 1
53622815878. 2
53622815879. 3
53622815880. 4

Question Id : 5362284070 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

v (W9 H. 91 ° 95 %) * I <A
F9F TOTEE F FANGF TEgY The £ 3H TT % R I ST Tl 0 SAAHEG 6T Taiad w2
TITE T AR Tk TG O FYF FAA] 2 W60E TaE e U 9 7@ AG: F9F HEAml 2
=A: 71 2 30 A FAF FE A 2

HAHS] TS | TAE oA 1 [ Sl AT & ATS H TR Ay &, TAEE e st giwg w2
AT W A | A S0 A1 2| Ufeies % wHEd & Y TR 2 oA SeArl 2| e 5m 6w
T o AT W HAG:T9EA g (R A 2| Siael 5 i qE1 %S A9 % OISR ® AT TEEA g o S
2| Wi i TR T A B GTRT A T ST 57 AT 1 A 309 1 Sl 7| RSl § v e
T we T s 2 A sl w9 3o B il 1 S I3 § A WA A S 2| 9 3
Tsa 7|

Sub questions

Question Number : 141 Question Id : 5362284071 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
T3 52 59 T vEEA 5 werm | e S 2 e

i 4 o

(1) AT (2)  F=am
(3)  Hiewrd (4) fiaet
Options :

53622815861. 1
53622815862. 2
53622815863. 3
53622815864. 4

Question Number : 142 Question Id : 5362284072 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afzd 9% | fafz F wovasy Fetaias 0 ° fFe mwe 72 gsa1 27

[

(1) TRRE (2) =4
(3) HATHT (4) wm™@
Options :

53622815865. 1
53622815866. 2
53622815867. 3
53622815868. 4

Question Number : 143 Question Id : 5362284073 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFm sreaTE § UfieeE % HEeE % A TR vEEA A 27

(1) RIE2ET (2) w9m
(3) I (4) wETE
Options :

53622815869. 1
53622815870. 2
53622815871. 3
53622815872. 4

Question Number : 144 Question Id : 5362284074 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

(1) vF 9% (2) wfed F9F

et

(3) 5@ FEE (4) wa: T9F

Options :

53622815873. 1
53622815874. 2
53622815875. 3
53622815876. 4

Question Number : 145 Question Id : 5362284075 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

VIR P e (1 s e i e e e e
(a) A FIF
(b) =@ FAF
(c)  =fEa 9

(d) T B

1 f3u 7w famel | @ waita® sww o 9T

(1) == (a). (b) # (c)
(2)  FAd (b), (c) 3 (d)
(3)  Fa (a), (b) I (d)

(4) == (a), (c) ¥H (d)

Options :

53622815877. 1
53622815878. 2
53622815879. 3



53622815880. 4

Sub-Section Number : 3
Sub-Section Id : 536228160
Question Shuffling Allowed : Yes

Question Id : 5362284076 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following Paragraph carefully and answer the five questions (Q.no. 96 to 100)

Abhyasa' and Vairagyva can reduce cittavrithis up to large extent Patanjali explains “Tatra
shitou vatno abhyasah™ A continous effort should be done to maintain a single position which
1s called ‘Abhyasa” Therefore the sage introduced Astanga yoga for a systematic approach to
the achievement of single cittavrtti for the benefit of sadhaka. In all yoga practices this
fundamental phenomina of “Yatna or orinted effort 1= the same.

Let us come to "asana” which 1s a part of Astanga voga. Here, the fundamental theme of
asana practice includes the above “Yatna™ invariably in all the following practices.
(1) An effort to reduce the breathing rate

(2) An effort to achieve a correct position of asana which 1s “Sthit1”
(3) Concentrate on a part of the body or outside which 1= a part of sthit’
(4) A sadhaka should choose the same calm place for everyday practices

(5) These practices should be done in the same time. to synchronize the system of various
systems with the universe

It 1= always easy to synchronize the body system 1n the sunrse and sunset time. Because of
vayu and agni, they change the intersity in this time which effects the body. The
temperature starts increasing from a dip in sunrise and from the peak in sunset respectively.
These temperature variations make a movement in the terrestrial air which influences the
body too. This 1s the key point for the bowel movement in a person. Which stabilizes
“Vatadosha in the whole body. All the other two doshas are controlled by the 'Vata dosha’

Sub questions

Question Number : 146 Question Id : 5362284077 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Answer the following gquestions by choosing the correct answer according to the above
paragraph.

Name the two practices which prevents cittavrittis
(A)  Vairagya

(B) Mumukshutra

(C) Abvase

(D) Padasevana

Options:

(1) A B. 2y B,C

(3) C.D 4 A.D
Options :

53622815881. 1
53622815882. 2
53622815883. 3
53622815884. 4

Question Number : 147 Question Id : 5362284078 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Name the effort which should be done along ‘abhyasa’

(1) Sthit1 (2) Yatna
(3) Swara (4) Dnst1
Options :

53622815885. 1
53622815886. 2
53622815887. 3
53622815888. 4

Question Number : 148 Question Id : 5362284079 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many items are told in 'Yatna' by the author?

(1) 2 2 3
(3) 4 (4 5
Options :

53622815889. 1
53622815890. 2



53622815891. 3
53622815892. 4

Question Number : 149 Question Id : 5362284080 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s that which mobilize the vayu?

(1) Sun (2) Moon
(3) Stars (4) Season
Options :

53622815893. 1
53622815894. 2
53622815895. 3
53622815896. 4

Question Number : 150 Question Id : 5362284081 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Name the key-point of bowel movement from the following

(1) Sunrise (2) Sunset
(3) Terestral air movement {(4) Mid noon
Options :

53622815897. 1
53622815898. 2
53622815899. 3
53622815900. 4

Question Id : 5362284076 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362284077 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR A FOATAN HA I S e e I A

(A) =T

(B) Hayg™

(C) ==

D) EEE

fﬂﬁq:

(1) A B @ B.C
(3 C.D 4 A.D

Options :

53622815881. 1
53622815882. 2
53622815883. 3



53622815884. 4

Question Number : 147 Question Id : 5362284078 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEATH = =Y A FEEE = 2

(1)  foufg (2) ==

(3) ==m 4 TE
Options :

53622815885. 1
53622815886. 2
53622815887. 3
53622815888. 4

Question Number : 148 Question Id : 5362284079 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=EF 4 T H [Fad 52 ma 2

(1) 2 (2) 3
(3) 4 4) o
Options :

53622815889. 1
53622815890. 2
53622815891. 3
53622815892. 4

Question Number : 149 Question Id : 5362284080 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Equ(: EE";E ﬁ -;1 f‘:f-lr’l::f: E ALY a-l_-:'_!. ]-:[ Tﬁ-‘_:{ ' | _;':-lT..-ﬁ % 7

(1) == (2) =
(3) @ (4) =4
Options :

53622815893. 1
53622815894. 2
53622815895. 3
53622815896. 4



Question Number : 150 Question Id : 5362284081 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Fl TG A W

l_l) 3 q—‘-’_‘lﬂ {2) W_' -
(3)  wifdE =g (4) T=IE

Options :

53622815897. 1
53622815898. 2
53622815899. 3
53622815900. 4



